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Note:-

(i) Attempt all questions

(ii) ESP sets have choice.

(iii) Hand writing should be good.
Q.1 Read the following passage carefully and answer the questions.

[302]

Jamshedji Tata wanted to make textiles in Nagpur in the 1800s with the cotton grown there.
Nagpur had no textile industry then, and in Manchester Jamshedji was told that Nagpur’s
weather was not suitable as it was too dry. He said, “Alright, | will bring the Manchester
weather to Nagpur”. He imported humidifiers and started India’s first textile mill in 1874.
Jamshediji started the Tata Iron and steel company and wanted to export steel rails to Britain.
A Britisher called Sir Frederick UP court scoffed, if Tata makes steel rails to British
specifications, | will undertake to eat every pound of rail that they make, “History stands
testimony to the fact that Tatas did manage to make steel rails and export them to Britain. No
accounts are available about UP court tryest with gastric challenges. In fact, world war |l
British tanks were called Tata nagars because the steel was made in Tata Nagar.

Jamshedji pursued his dream, put together a team, raised the capital, created a product,
and mainstreamed it. He did it sitting in India 125 years ago when India’s technical capabilities
were for less than they are now. When you dream, surely some of it gets translated into

reality, A century ago, Jamshedji took some foreign visitors to the majestic Hotel in Mumbai

Page 1 of 7 (3360)



Q.2

[302]

but was denied entrance because he was an Indian. Jamshedji simply resolved to build a

hotel that was even finer, and which would not discriminate against people based on colour or

race.
Questions:

(a) Give the opposite of the word “Imported”. (1)
(b)  Give the verb form of the word “Entrance” (1)
(c)  Which word has the similar meaning of “certainly” (1)
(d) Anative of Indiais called ....................... (1)
(e) Jamshedji Tata wantedtomake a ...................... mill. (1)
()  Britishtanks were called .............c.coceeveis . (1)
(g) Jamshedji was denied from entering into ....................... } (1)
(h) Jamshedji wanted to export steelto ........................ . (1)
(i)  What was the result of this incident? (2)
(j)  Find out the words from the passage which convey the following meanings: (2)

(i)  Declaration of truth or fact.

(i)  Of the stomach.
Read the following passage carefully and answer the questions given below:
In the modern world, honesty has lost its meaning. Wealth plays an important role in man’s life
today. Value of money has gone high, Everyone wants to become rich without hard labour. He
does not hesitate to adopt any means at all to become rich. But still some people appreciate
honesty. All religions lay down great stress on honesty. An honest man is always brave. He is
not afraid of anybody. He is truthful and is liked by everybody. On the other hand, liar, greedy
and cunning people earn more money but they are not liked by people.

Honesty should be maintained every where, at home, in school, among friends and even

in the play ground. An honest person always obeys the law so he is free from serious trouble.
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Q.4

Q.5

[302]

Honesty also gives rise to spiritual strength. So one takes up any challenge with confidence.
On the other hand, a dishonest person can never be sure of anything. He is always busy in
plotting. So he never gets peace. An honest man is rewarded with success. Even after his

death, people remember him. He gets love and respect from others.

Questions:

(a) Read the above passage carefully and make notes on it and supply a title. (5)
(b) Prepare a Summary of the above passage. (3)
Write a paragraph on any one of the following: (7)

(a) Role of computer in everyday life.
(b) Importance of Games and sports.
(¢)  Unemployment problem.

(d)  Any Great leader.

Write a letter to the collector of your district requesting him to ban the use of loud speakers
during the examination days. (6)
OR

You are Krapa Shankar soni, residing 64, Arera colony, Bhopal, Write a letter to your friend
Jaspal Rana residing in chetana Nagar, Shahdol inviting him to come to Bhopal in summer
vacation and stay with you for some days.

(a) Edit the following passage for mistakes in spelling punctuation and grammar: (5)
Oh papa, last weak, my rose plant almost dead. | ask my Biology teacher what i should
do to save it. And she was cross she said go ask the guy whom keeps gardening things.

(b)  Fillin the blanks with correct words. (5)
(@) e, that glitters is not gold. (all, each, every)
(b) Ramis .....cocoeiiiinnnes N. C. C. cadet. (a, an, the)
() We prefer wisdom ..................... wealth. (than, with, to)
(d Ram ................ his work. (doing, does, do)
(e) lhave .......ccooennnn. money in the pocket. (many, any, some)
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Q.6

[302]

()

Do as directed : (any five)

(e)
(f)

Some body cleans the room every day. (Change into passive voice)
He confessed his sin. (change into complex sentence)
As soon as he saw the police, he ran away. (use “no sooner ........ than”)

(i)  Heis not sane.
(i) He is not brilliant.

(combine these sentences using “neither ........ nor”)
He does his duty. (change into negative)

He is too poor to pay his fees. (change into complex sentence)

Read the following passage carefully and answer the questions given below:

®)

®)

It was good that I lost my sight when | did, because having no memories of seeing, there

was nothing to look back to: Nothing to miss. | went blind in November 1937. At that time

we were living in Gujarat, in the province of Punjab in northern India. After my sickness

who came to sympathies made my father ask for another transfer, this time to Karnal,

where we had neither friends nor relatives. There we got a cottage on the canal bank,

built in very peaceful and quiet surroundings.

Questions:

(a)

(b)

Why does the speaker appreciate losing his sight when he was very young?

Where did the speaker live when he lost his sight?

Where did the speaker’s family move after his sickness?

What made the speaker’s father ask for another transfer?

Where did the speaker live in Karnal?
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(b) Read the poem carefully and answer the questions given below it: (5)
Where the mind is without fear
and head is held high
Where knowledge is free
Where the world has not been broken
up into Fragments by narrow domestic walls.
Questions;
(@)  Who cannot raise his head high?
(b) How can knowledge be free?
(c) What does Tagore mean by narrow domestic walls?
(d) Give the opposite of “Slave.”
(e) Give the opposite of “low”.
Q.7 Answer any five of the following questions: (5%x2=10)
(@) How did madan behave with Jagdish Babu the next day?
(b) What does the writer think is wrong with his education? What would he really like to
learn about?
(c) What determines the temperature of the earth?
(d) How do you know that the doctor was relaxed after the baby was born?
(e) What was the usual fate of blind children in those days?
()  Why did Baldev live at the station away from his family?
(9) Why did grandmother ask Simmi to fetch her mother?
Q.8 What does Nehru wish for India’s future? (4)

OR

List at least 3 (three) Facts about Gerrard that the intruder had found out before coming to his

house.
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Q.9 Answer any four questions from the following:

(@) Why have the woods been described as “yellow”?

(b)  Why had the scorpion entered the hut?

(¢) What is meant by “Where knowledge is free”?

(d)  Why does the poetess like to go back to the house?

(e) What does the poet mean by the word ‘care’ in the poem ‘Leisure’?

ESP science

Q.10 Match the items in column ‘A’ and their description given in column ‘B’

Column ‘A’ Column ‘B’
(1)  Uranium (a) Information
(2) Data (b) Produces a permanent image of an object.
(3) Solar cooker (c) Should be level or gently sloping
(4) The garden site (d)  An element with an unstable nucleus
(5) A camera (e) A simple technological device that can exploit

solar energy.

Q.11 Answer the following questions: (any four)

[302]

(@) How do the weeds harm the plants?

(b) What is emotional stress? How does it affect the body?
(c) What is chain reaction?

(d) How does frost form in the fridge?

(e) What makes computer such a miraculous device?
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Q.10 (a)

(b)

OR
ESP Receptionist

List some of the materials that may help a receptionist in her work.

What are the special skills required for managing a telephone?

Q.11 Write down the requests for which the following are possible answers:

[302]

(i)
(i)
(i)

(iv)

Mr. Nigam is at Telephone No. 2458698.

Yes, I'll send in a glass of fresh orange juice with the waiter.
Yes, The flight to Mumbai is scheduled at 4 P.M.

Yes, I'll call for a doctor urgently.

Yes, Your bills are ready at the reception.
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Instructions:-
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(li) Read instructions carefully of the question paper and then write answers of
the questions.

(lii) Question paper has four section - section ‘A’ and section ‘B’ are
compulsory. Attempt any one section in section ‘C’ and section ‘D’.

(lv) In the section ‘A’ Question No. 1 to 5 are objective type. Each question
carries 5 marks.

(v) In section ‘B’, section ‘C’ and section ‘D’ question No. 6 to 26 has internal
option.

(vi) Question No. 6 to 10 carry 2 marks each.

(vii) Question No. 11 to 14 carry 3 marks each.

(viii) Question 15 to 21 carry 4 marks each.

(Ix) Question 22 to 26 carry 5 marks each.
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[311]

gus — 31’

SECTION - ‘A’
AE! fden gaax forfag— (5X1=5)
Select the correct answer from the given options —
(i) AR AN 2, 6, 10 e ®T 15 a1 Ug BN |
(A) 48 (B) 38
(C) 46 (D) 58
15™ term of the Arithmetical progression 2, 6,10 ............
(A) 48 (B) 38
(C) 46 (D) 58
(i) THIBROT 4x2 + 6px + 1=0DH HATH &, Al p BT A BIE:
4 1
A — B) —
(A) : (B) 3
2 4
C) - D) —
(C) 3 (D) 3
The roots equal of the equation 4x® + 6px + 1 = 0, then the value of p:
4 1
A — B) —
(A) s (B) 3
2 4
C) - D) —
(€) 3 (D) 3
(i) afRFsr =T -1+iV/3 BT BB @
(A)  120° (B) -120°
(C) -60° (D) 60°
Amplitude of complex number -1+i J3 is
(A) 120° (B) -120°
(C) -60° (D) 60°
(v) (2x+3y)'® TR # Usl & 9= ©
(A) 8 (B) 6
C) 5 (D) 3
Number of terms in expansion of (2x + 3y)* is
(A) 8 (B) 6
C) 5 (D) 3
(v) STFHIBROT 3x—4 <5 HT A BN —
(A)  (3,3] (B) (-~ 3]
(C) I[5,3] (D) (3,-~
Solution of the equation 3x — 4 <5 will be:
(A)  (3,9] (B) (- 3]
(C) [5 3] (D) (3,-~
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[311]

frfaRaa oAl # w1 /3 falRay: (5X1=5)
Writ true /false in the following statements:
() ST B BT STadd Tl =d8 JF W 919 deardr © |

The maximum and minimum values of the objective function are known as extreme

values.

(i) I fHA AThad B SH=dl e=1 & A Ahd WRAAT HEAN & |

If for a conic, the eccentricity e = 1, then the conic is called parabola.
(iy IS Iq BT B qA 95 (0, 0) T FRAT @’ BT AT g BT FHIBIT X2 + y? = a2
BIIT |

If the center origin point is (0, 0) and radius is ‘a’ of circle, then the equation of circle is -
X2 +y?=al

(iv) fag (3,-4) fgcia agufs & Rerd 2|
The point (3, - 4) line in the second quadrant.

(v) SRl BT IRT Aead 99 &7 Tee &Rl & |

Addition of matrices obeys associative law.

Reat zormt @1 gfd prfore— (5x1=5)

Fill is the blanks.

(i) SN 5V3,8v3 /3 o F - 7V3 af U B |
7VB S the woveeee, term of the series 5\/5,3\/5, V3 ol

(i)  CoS2X BT ABE TOMD ..o =

Differential coefficient of COS2X IS ...c.vvvieiiiiiiii i,

(i) afe tanA:%Sﬁ? tanB=% A A+B BT AT oo BT |

1
If tan A =§ and tanB =5then thevalueof A+Bis ..cocevvveeeiin...

(v) I a, H,b eTHH S0l § 81 dla 3R b BT EAHAD AT oo BT |
If a, H, b are in Harmonic Progression then the Harmonic meanofaandbiis ...............
1- b
v) AR F)=log— B @ f| 22 = BT |
1+ X 1-ab
1-
1 £(0) = log——% then £ 22 | o
1+Xx 1-ab
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4 TH ek /IE0 H IR QT | (5X1=5)
Give the answer in one word or a sentence.
() AegHT B aRTeT forRay |
Write the definition of Median.
(i) FER 7Y & fory g3 falay |
Write the formula of Arithmetic mean.
(i) TP oS & dgadd & g foiey |
Write the formula of Mode for Grouped data.
(iv) faergor @1 gl falRey |

Write the definition of Dispersion.

v | X 7 iR |

a? +x?
Write the value of Iazii( 5
X
U5 Wal \_rﬂ@ EFI'I@: — (5X1:5)
3 q
() jsinxdx (i) log [x+\/x2 —az]
(b) jseczx dx (i) sin™ g
(c) jcot x dx (iii) tanx
(d) jd—x (iv) log sin x
Vxgt e
(e) I— (v) —cosx
1’a2 _X2 ]
(vi) log x+\/x2+a2]
Match the correct pair:- )
‘A ‘B’ )
(a) Isinxdx () log x+\/x2—a2]
2 . .1 5
(b) jsec X dx (i)  sin 2
(c) _[cot x dx (iii) tanx
(d) jd—x (iv) log sin x
Vx? +a°
— cos X

SRk M
(vi) Iog[x+\/x2+a2}
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grs — ¢
SECTION - ‘B’
S 2x, x+5 3R x + 11 FAR &A1 § 7, a1 x BT J9 A1 B |
If 2x, x+5 and x + 11 are in Arithmetic progression then calculate the value of x.
31erd1 / OR
6 3R 9 BT IUIR AT ST BT |
Evaluate Geometric Mean of 6 and 9.
AT 2= (3+41)AAzo = (51— 2) BI, AT 24 + 2, A DI |
fzi=@3+4i)andz, = (5i—2), thenfind z; + z.
31erd1 / OR
I FHIBROT 2x% — 9x + 8 = 0 BT fafafddax sd dIRTY |
Find the discriminant of quadratic equation 2x* —9x + 8 = 0.
Ifd A={5,6,7,8,9) T B={2,4,6,8} 8, dl, AUB TAT A B HTd HINIT |
IfA={5,6,7,8,9}and B = {2, 4, 6, 8} then find Au B and A n B.
31erd1 / OR
afd A=(3, 4,5} 3R B={1,2} &I, dl §q=di A TAT B &T BT [0 (AxB)
ST ITY |
If A={3, 4,5} andB = {1, 2} then find the Cartesian Product of sets A and B.
x* BT x B ATUE FHATHAT DI |

Integrate x* with respect to x.

312197 / OR
I y=x2+x 8, Al %Eb‘ftlﬁgﬂﬁag 1T |
X

If y = x* + x°, then find the value of j—y
X

IH R1ad U A1 IS8Tl oI 9 UTd Ufires! gHfte 1 9oie HifeTg |

When three coins are thrown simultaneously, describe the sample space.
31erdr / OR

B0 QI U Udh ATT hobdll © | ANT 7 3T &1 Ulaeel |afe forfy |

Hari throws a pair of dice. Describe the sample space representing a total of 7.

Page 5 of 12
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afe FHIGRIT x* + px + g = 0 BT Th oI TR oI BT G090 8, @ g a9 &
op? = 9. (3)

If one root of the equation x* + px + g = 0 is the twice of the second root, then prove that-
2p® = 9.

31791 / OR
afg x+y=[; _42} 3R x—y:{_s1 (ﬂﬁf ﬁ@T@Jﬁx 3R y AT HIY |

1 -2 2
If x+y:{3 : } and x—y:P1 0}, then find matrices x and y.

afe fHY Xar &1 Sl & 1= BIeT AT AT WS (2, —6) FRT FHGHINTT B, o X&T
BT FHIERT 1T BT | (3)
If the portion intercepted between the axes of a line is bisected by the point (2, —6). Find the
equation of the line.

31741 / OR
39 fdg & feen® o sifg St fa=gell (4, —2) T2 (-3, 5) &1 A drel
RYGUS Pl 2:3 3= 9 dTed AGUT H fAuTioTe bRl € |

Find the coordinates of the point which divides the line segment joining the point (4, —2) and
(-3, 5) internally and externally in the ratio 2:3.

Rig HIfdmT (3)

. (o] 1 .
sin(A+45")=—(sinA+cos A)
V2

Prove that
sin(A+45°)= L (sin A +cos A)

N
31271 / OR

IfE cos@+sin@=+/2cos® &I, T RIg BINTT BT cosH—sind=+/2sin 0
If cos0+sin®=+/2cos9 , then prove that: cos 6 — sin 0=1/25in0

lim X tan x
L= B HE A9 D QQI 3
X =0 1_cos 2x )

lim X tan x

Evaluate: EE—
X =0 {_cos2x

Page 6 of 12 (610)



31eraT / OR

afg y=\/sinx+x/sinx+\/sinx+ ----- w B A RIg oD (2y-1)%=cosx

If y=\/sinx+\/sinx+\/sinx+ ————— o , then prove that (2y—1)%=cosx.
9.15 Rig BN & (4)
abc
b ¢ a|=3abc-a®-b-c?
c ab
Prove that
abc
a|=3abc-a®-bd-¢?
b
31erd1 / OR
1 2 1
Ifd A=|3 2 3| Bl I AdjA ST SIS |
11 2
1 2 1
If A=|13 2 3|’ Find the value of Adj A.
1 1 2
U146 IH AR QT B FHIBIOT ST DISTY ST a5 (—1, 4) F BB AN 2, TAT IS @l
3x+2y—7=0 @ AR 2 | (4)
Find the equation of the line passing through the point ( -1, 4) and is parallel to the line
3x+2y-7=0

31erdaT / OR
S WRIAT BT AHIHIOT S BHIfoTg, foTqat A1y (8, —2) iR fFaar y=2x-9 2|

Find the equation of parabola whose focus is (-8, —2) and directrix is y = 2x — 9.
g.17 f&d Bt ABC H g &)1 & (4)

b? sin 2C + ¢? sin 2B = 2bc sin A
In a A ABC prove that
b2 sin 2C + ¢? sin 2B = 2bc sin A

[311] Page 7 of 12 (610)
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el Byt ABC H Rig &)1 &1

sin A= [(8-D)(s-0)
2 bc
In a A ABC prove that

A (s-b)(s-c)

sin —=
2 bc
R1g B B
44 412 133
cos '—+c0os ' —=cos ' —
5 13 65
Prove that
44 412 133
cos '—+cos ' —=cos ' —
5 13 65
FHIHROT B PIFTU
21X 145 =
sin”'=+4+cosec  —==
42
Solve
-1 X 145 =
sin”'=+4+cosec  —==
42
xZ -1
, X#-1wW
I f(x)=4 X+1
-2, X=—1w

31eraT / OR

31eraT / OR

x=-1 R BT & Aiad d fqda=T B |

2_
u, for x # —1

If f(x)={ X+1

-2, for x=-1

Test the continuity of Function at x = —1.

312raT / OR

(sin x)°* DT fqeher TUNd ST DI |

log x

Differentiate (sin x)

Page 8 of 12
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[311]

Evaluate Ix log x dx

TRI DI GAD BB (I fddhel THIBR DI T DIFI:

312raT / OR

X2y —3)dx + (xX*+ 1) dy =0

Separate the variables and solve the following differential equation:

x(2y —3)dx + (xX*+ 1) dy =0
g.21 fA=ifea arRel & forw aftger 9 ary g s1d Sifvm:

T IR

0—10

10 — 20

20 — 30

30 — 40

40 — 50

5

8

15

16

Compute the mean deviation from the median for the following distribution:

Class Interval | 0-10 | 10—-20 | 20—-30 | 30—-40 | 40-50
Frequency 5 8 15 16 6
31d1/ OR
1 IR | AfTHT B ITOET DI
cui 0—20)|20 —40 | 40 — 60 | 60 — 80 | 80 — 100
SICIS| 2 7 10 3 3
Compute the median for the following distribution:
Interval 0-20|20—-40 | 40-60 | 60—-80 | 80—-100
Frequency 2 7 10 3 3
Page 9 of 12
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14 Raenfedi @ 9 11 Raenfeai & fhde <M @1 foad ISR | I91—1 ST 9T T,
STafas ()
(i) P IILT AR VE |

(i) & IS IEErTS Fad A R |

In how many ways a team of 11 cricket players can be selected out of 14 players so that

(i)  The captain must be included
(i)  Two fast bowlers must be selected

312raT / OR

(x2+1J12$Wﬁx®_€%ﬂq—Q’§ﬂﬁWI

X

12
Find the independent term of x in the expansion of (xz +lj .

X
I FETIR SR & n UG & ANT Bl hHI sy, S, Sz & | TG IAb BT YIH Ug 1
qAqT 9D AR HHT: 1, 2, 3R 3 &I, d Rig Iy (5)
Sy + S3=2S,

The sum of n terms of three arithmetic progression are s;, s, and ss. If the first term of each
series be 1 and their common differences are 1, 2, and 3 respectively, then prove that
S1+ S3=2S;
31d1 / OR

ol 6 + 66 + 666 + ----- BT n UG Tb ANTH ST HIMTT |

Find the sum of n terms of the series 6 + 66 + 666 + -----

BT f(X) = x°— 6x2 + 11x — 6 D II=RTSA [1, 3] H VT YN Bl Sifd HINTY | (5)
Verify Rolle’s theorem for the function f(x) = xX*— 6x* + 11x — 6 in the interval [1, 3].
3141 / OR
sinx m
Rig AR [z ax ="
IO vsinx + +/cosx 4
vsinx i

",
Prove that Ioz

dx = —
v'sinx + +/cosx 4

Page 10 of 12 (610)
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gug — 9’
SECTION - ‘C’
IS a=1-2]+k, b=2i+]j+k C=i+2]-k O TAMIT DINTT BT (5)

If a=i—-2]j+k, b=2i+]j+k, C=i+2]j-k, verify that ax(bx¢)=(a.¢)b-(a.b)¢
312ra1 / OR

ST R NG & 41 B REAH S A1 DINY D AR TR0 FHEER 8-

f=(@B-ti+(@+2t)j+(—2)k TAT F=(1+8)i+(385-7)j+(2S-2)k EIST T ®Ig A T |

Find the shortest distance between two lines whose vector equations are -

F=B-tfi+@+20)j+(t-2k and F=(01+S)i+(3S-7)j+(2S-2)k where S and T are

scalar.
g (1, 3, 2) | IO dTel IH FATA BT FHDROT ST DINY S x+2y+2z2=5
qAqT 3x+3y+22=8 WX @9 % | (5)

Find the equation to the plane through the point (-1, 3, 2) and perpendicular to the planes
X+2y+2z=5and 3x+3y+2z=8.

31era1 / OR
Rrg PIT o1 @mn-

X;1=V;3:Z;5 eI X;2=y;4=2;6 FHAT 2| AT & S9 §HdA Bl

BT A1 S PIRTY, T I Y@y Rerd 2|

Prove that the lines-

x+1_y+3_2z+5 and x-2_y-4_z-6
3 5 7 1 4
plane containing these lines.

are coplanar. Find the equation of the

grs — T
SECTION - ‘D’
g.25 FrEfoRed sifesl ¥ Jearqurdl & AXel AT A 99 1999 DI AR 99 A 2004 B
oY Hog gadie S1d Bifog— ()
Page 11 of 12 (610)
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[311]

quyg A B C D E F

Teu(1999 ) (5. ®) |60 |50 [60 [50 |25 20

(2004 ) (5. H) |80 |60 (72 |75 37 % 30

Construct by simple average of price relative method the price index of 2004, taking 1999 as
base year from the following data-

Commaodity A B C D E F
Price (in 1999) 60 |50 |60 |50 |25 20
Price (in 2004) 80 |60 |72 |75 371 30
2
31041 / OR

IfE Uh SR B g $ 2,20,000 B, A HR BT fA&qa 941 F1 BET AR Alferer
AT © 1,30,000 ® @ fIU % 4113 2| TAT ITY 1P ¥ & foIU 2.95% | der

Tae §91 T 160 &7

If a car costs Rs. 2,20,000, then what will be the comprehensive insurance of the car if the
tabular premium charged is Rs. 4113 for Rs. 1,30,000 and 2.95% of the excess amount and
the act insurance Rs. 160.

£ A 20 fadcd fSa@Tdg 3MeR 20 T 9T fPamd & 9d | A - 2 | 59 W

AT geh 25% TAT 16% SATRFT Yob © | Ale W BT 10% @RI & ST &, O A1
DITY b T S BT fha=r A1 Yoob <A1 BIT Afe AT Yob W 2% [R1em UuR
2 ()

Mr. Gupta imports 20 Quintals of packed food @ 20 per kg. Custom duty imposed on it is 25%
and 16% of additional duty. Calculate the total amount Mr. Gupta has to pay to the
government, if 10% of the goods were pilfered. Assume that 2% education cess is charged on
custom duty.

31eraT / OR

TF AT P x THRAT & e & AT dFd MC=——> 2| It Rer

Vx2 + 2500

SR % 1000 ©, Al Bel AN el al A AN Herd SiTd dbifoly |

X

Jx2 +2500

Find the total cost function and the average cost function if the fixed cost is Rs. 1000.

The marginal cost function of producing x unit of a product is given by MC =

Page 12 of 12 (610)



G YT BT HAT : 20 G B DI F&AT ¢ 12
Total No. of Questions: 20 Total No. of Pages: 12

ERR Advsyl e, R — 2017

312
ug : gifde I
Subject: PHYSICS

| : 03 HUC quries : 075
Time: 03 Hours Maximum Marks: 075
-

()  5%7 97 g @usl 3 Ty 9 F A= &/

(i) S TUE P T FTT &7 B G &/ FIT & 5 T 17 TF FAH FIT H
Fian® fawey 74 73 &/

(i) T GUS & Hae & [dBeT B GHI JIT & B/

(iv) T J97 8g [FEINT 3id 97 & TF 3fda @

(v) STTEIHAFER W T FHNFT @7 F7759 |

Note:-
(i) Question paper is divided into two parts ‘A’ and ‘B’.
(ii)  All questions of part ‘A’ are compulsory to attempt. Internal options are given in
each question from question no. 05 to 17.
(iii)  Attempt all questions of only one option of part ‘B’
(iv) Marks allotted on each question are mentioned in front of the question.

(v) Draw neat and labelled diagram wherever required.
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9.1

[312]

TP U ¥ AU T fahedl H | WEl f[dhed gy fal |

(1)

Yvs — 3 /PART-A

SIS Al &1 gRATT BIdT 28—

(iv) <4

o &7 i 93 8-

(i) [MLT?

(i) [ML2TY

(i) [M'L3T?Y

(iv) [MeLeT]

I & Irupett @l TRT B B
() T fai

(i) 7.46 dic

(iv) 7460 dic
Page 2 of 12
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) g & g # srfaRed 19 BraT 8—
T
R
iy -
(i) —

(iv) —

Select and write the correct option from the options given in each question.

(a) The magnitude of unit vector is-

(i) Unity
(i)  Zero
(iii)  Infinite
(iv) Ten

(b) The dimensional formula of force is-

() (MLT?]
(i) [ML®T?]
(iiiy M LT

(iv) [M°L°T]
(c)  The motion of molecules of a gas is-
(i)  One dimensional
(i)  Two dimensional
(iii)  Three dimensional

(iv)  Only up and down

[312] Page 3 of 12 (2260)



(d)

One Horse power (H.P) is equal to-
(iy 746 Watt

(i)  74.6 Watt

(i) 7.46 Watt

(iv) 7460 Watt

Excess pressure inside a drop of liquid is
. T
M —
R
(i) —
(i) —

(iv) —

g2 Rad =l &1 gfid siime—

[312]

................................ fhRoTl (Ray) T SUIRT EEET Ted &7 UaT oW+ # far S7am 2|

31 wWRF fgyall @1 orgRmal 24 &St ok 22 &S = | Al I o AT &

Ml UV & gd I BIbd dh DI Gl DI I qUUT Bl

T W 75 & oy W gfte &1 <AaH9 g

Page 4 of 12
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Fill in the blanks.

(@) RUDBDEI IS .. elastic as compared to steel.
(D) e e Ray’s are used to detect fracture of bones.

(c) The frequencies of two tuning forks are 24 Hz and 22 Hz. If both are sounded together

the number of beats per second Will De ..o

(d)  The distance from pole of spherical mirror to its focus is called .................... of the mirror.

(e) For normal eye, the least distance of distinCt ViSioN is ..........ccccvveveeeiiiiiiiiiiiieee e cm.
93 el Srel 8. (5)

‘a g

(31) GRT BT AHD () orderrel Wl

(@) MY BT FICIDHRT (i) qvBsin®

@) urafe Jod (i) = T

(@) <R~ 9a (iv) g=zxne

3) TNBFR BT Pls (v) TR

Make the correct pairs.

A’ ‘B’
(a)  Unit of current (i)  Leclanche cell
(b)  Quantisation of change (i) qvBsin®

(c) Primary cell (iiiy  Soft iron

(d) Lorentz force (iv) g=%ne

(e) Core of transformer (v)  Ampere

[312] Page 5 of 12 (2260)



4 YD BT U IR § IR ST | (5)

9.5

[312]

(3) NAND € H AND 7Ic & Q1 DIF AT I BT © |

@ I gg earas d FEA! Agfs MaE oE d 689 UeR &1 g dds
T

([) SR SIS & Udb ST forRRady |

(@) afddt § S T U8y 9§ | Fi?
(8) URH T dmM fd dEd 27?

Give answer in one sentence each.
(a) Which gate is along with AND gate in NAND gate.

(b) If trivalent impurity is added in a pure semiconductor. Which type of semiconductor will
we get?

(c)  Write one use of Zener Diode.
(d)  “We wear woolen clothes in winter” Why?

(e) What is absolute zero temperature?

AR a7 3 9ga T A1 T H 980 30 Bl I & | BRI I DI, ¥)

In deserts days are very hot and nights are very cold. Give reason, Why?

31141 / OR

ST ®ael 81 SISl § TH QAT &, dal 9% & fUgey | 41 991a1 g | 317

The blanket, which keeps us warm in winter, prevents the ice from melting. Why?

Page 6 of 12 (2260)
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[312]

RTac b Hed 87 WRiaad & a8 falRey | (2)

What is reflection? State the laws of reflection.

3121a1 / OR
Bifcrs BIUT fhd dad 27 IRIATNT BT |

What is critical angle? Define it.

AT B UHY fagd AHIRU foRgdr SHH Ugad Hadl B I W

I | 7))

State Einstein’s Photo electric equation and explain the meaning of the symbols used in it.
31791/ OR

SR & B <7 oA forRed |

Write any two applications of radioactivity.

el I fhd ded 87 3mest I FHIeRoT forfRa | (3)

What is a perfect gas? Write the perfect gas equation.

31141 / OR

SHIYRT UhH X RIT AU 27 TP BIs ol SSTexv SIfoly |

What is meant by a reversible process? Give two examples.

form Wigar froq g1 udwavft yarer faRor &1 sradas aHssy | (3)

Explain refraction of a monochromatic light ray through a prism by a proper ray diagram.

31141 / OR

FYad gesraell g1 Ufafdw &1 41, AT fhRoT g I qeMig; STafdh aifad

amafefa ufafar e gfe @ REaH g W 9T 2|

Draw a labelled ray diagram of a component microscope showing the last magnified image,

formed at the least distance of distinct vision.
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g T D IIHIOT BT 31 AHE=Y | s9d foIv mavyss ufady aar 87 (3)

Explain the meaning of interference of sound waves. What are the conditions required for it?

31141 / OR

TP ASH! el S V& B |

() IS I8 Feid Seld Tl 8l I |

(i) AT TP 3R TSDHI IAD U 3B d38 MY, AT IAd RART H et & IMaddra
R T J91T TSITT?

A girl is swinging. How is the time period of a swing affected if.
(i)  She stands while swinging.

(i)  Another girl sits along her side?

< Sfaw & gdo7 9 g I 9 Q1 BT 9d1sy | g6 Bl B UHR HH fear o
AT 27 (4)

State any two advantages and disadvantages of friction in daily life. How can the friction be

reduced?

31141 / OR

U fUUS WR 40 =T BT g1 TThR, I dcl Bl A2 ¥ 60° BT HIUT g91d 8T 20

Hrex faxenfag far Sirar 21 5y 1 sl &1 o1 SIS |

A force of 40 N is applied on a body to displace it by 20 m in a direction at an angle 60° with

the direction of force. Calculate the work done.

Page 8 of 12 (2260)



g.12 fa=ferRad uel & e SIifve— (@1 o ) (4)
(i) wfcde
(i) faepfa
(iii) IIRRIAT DI AT
(iv) BP BT 1H
Explain the following terms- (Any three)
(i)  Stress
(i)  Strain
(iii)  Limit of elasticity
(iv) Hooke’s law

3ferar / OR
FIT BRI & Pl—
() a9 g # SR 79 & S 2|
(i) o el § O B od S o 2

Give reason why-
()  Inrainy season, the walls get moist.

(i) Blowing- off of tin roofs in wind storm.

U.13 a1 fdg el & #ey o drel 91 el g™ w1 gd Ry der 59 m @
MR UR Yl M BT TR¥TST fARe | (4)

Write Coulomb’s law regarding the force between the two point charges and on its basis

define unit charge.

[312] Page 9 of 12 (2260)



.14

.15

[312]

3Id1/OR

gad B Dls AR o1 foIRed |

Write any four properties of a magnet.

dI8% Pl BISSIoT URATY HISH B YT aR ARSI HI AR | (4)

State any four postulates of Bohr's Hydrogen atomic model.

3127d1 / OR
BT FeraT Td ATHHT foRgrsa # dis aR 3fax forRay |

Write any four differences between nuclear fission and nuclear fusion.

qof R feed! & w9 H P-N A SHIE & SWART &1 o e ofidel #

PITSTY— (4)

() URIY BT AHbd @A

Describe the use of P-N junction diode as a full — wave rectifier under the following headings.
(i)  Labelled circuit diagram
(i)  Working

31791/ OR

AND TIT NOR TIc & I AR der difiid dad forRad |

Write truth table and logic symbol of AND and NOR gates.
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716 Rig Y & geft & &g R THA TROT ‘g' BT AF I BT 2 | (5)
Prove that the value of acceleration due to gravity ‘g’ at the center of the earth is zero.

3d1/OR

fig fafsr g1 93 S=ut+§at2?ﬁ FIAT 1 S I T8l u TRMS 97T, a @ROT ¢t
I qATS Tl T 4 7 |

1
Test the validity of formula S = ut +Eat2 dimensionally; Where u is the initial velocity, a

acceleration , t time and S the distance travelled.

717 o ¥R e FaiRa &1 aiRdr & fog @9 ura iy | aft wiel & 9a 318
URTIELT ATEH X & SId A1 a1kl uR 1 g9 ggITe (5)

Obtain expression for the capacity of a parallel plate condenser. If dielectric medium is placed

in between the plates, how is its capacity affected?

37091/ OR
TRIBTR &7 9ui9 = 3l & difore—

() Frga

(i) SNHFR & YHR Ud Ardifebd T

Describe a transformer under the following headings-
(i)  Principle

(i) Kinds of transformer and their labelled, Diagram.
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Yvs — ¥ / PART-B

dpfousd — ATSId / Optional — Module

BT T 27
What is FAX?
TR B PIg dF ST IRy |

Write any three usages of LASER

IR Ugfd & I — 9 J dd 27 FHssy |

What are the elements of communication system? Explain.

3Id1/OR

Ut g fefTed RiAer § @I g7 arax forlRau |

Write any two differences between analog and digital signal.
FHAGe f$%h (C.D) & DI I o™ foTlRay |

Write any there advantages of compact disc. (C.D)

T R fewoly forlRau |

(a) TIRISS DX
) fSRica &axr

Write short note on the following-
(a) Polaroid Camera

(b) Digital Camera

Page 12 of 12
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313
oy ~E I
Subject: CHEMISTRY

FHI 1 03 T quUIid : 075
Time: 03 Hours Maximum Marks: 075
fader —

()  Fo79F §F @S 3 dour T F [5FT &/

(i) O GUS @ G FIT &eT HYAT SHIAqrd &1 FET . 5 @ Tib. 17 0B FAD TIT
# aaie ey 74 19 &/

(i) T @S P BHIA VP [QBT B TH FIT 8T BV /

(iv) g% 7e7 8g [ERa sl q97 & w7a sifdd &/

(v) STTHAFER W€ g TANHT [ T8/

Instruction:-
(i) Question paper is divided in to two parts “A” and “B”
(ii)  All questions of part ‘A’ are compulsory to attempt. Internal options are given in
each questions from questions no.5 to 17.
(iii)  Attempt all questions of only one option of part B.
(iv) Marks for each questions are written is brackets.

(v)  Draw well labelled diagram if required.
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[313]

ﬁﬁmqﬁ?:—

Choose the correct option-

(i)

(ii)

B 9 H gl T8 R T <l o—
(a) CO

(b) CO.

(c) CH,

(d) HCHO

Complete combustion of carbon in air gives-

(@) CO
(b) CO
() CHa
(d) HCHO

H* 3R OH™ &1 JIfAfhar &1 919 8—

(a) BISSIOTIERT]

(d) ST A B TE

Reaction of H and OH™ is named as-
(a) Hydrogenation

(b)  Hydrolysis

(c) Neutralization

(d)  None of these

Page 2 of 12
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(i) fIega &1 A9 3reET ATAD B
(@) BRI
(b) fRrcidr
(©) U®IgT
(d) STH A DIZ &I
Best conductor of electricity is-
(a) Diamond
(b)  Silicon
(c) Graphite
(d)  None of these
(v) = & 9 feger G WRas 87

(@) CoH

(b) HO

() SO

(d) H0;

Which one is having linear structure?
(@ GCoH

(b) HO

(c) SO

(d) H0:

(v) = ¥ 9 ag &1 selagie = $IF 91 8°

(@ 2,8,8
by 2,8,1
(c) 2,8,7
(d 2,84
Which of the following is electronic configuration of metal?
(@ 2,8,8
(b) 2,8,1
(c) 2,8,7
(d) 2,8,4
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g2 Rad = &1 gid sifvg— (1X5=5)

IR LRSI R L 2 1 =

Gy ISR Fs =1 e B &7 g1 2 |

YIRS 1 I IR s LS A1 | Bl T |

NI =N o Y N foriive 2|

IR T L =T = =

Fill in the blanks:-

(1) AVOGAAIrO'S NO. IS.... ..ottt

(2) e, bond is formed by S-S overlapping.

(3) N €XOthermic reaction NEAL IS, ..............ccverveeevieeeeeieeeeeeeeeec et

(4) DT A IS oot ligand..

(5)  UNIt OF ENEIOPY I, ..veveeveeeeseeieeeeeeceeeteee ettt eee e
U3 el Sifs! aAgd— (1x5=5)

- -

(@) TP Al &7 N.T.P TR 3mIa+ (1) SP®FHIT

(b) TP HTS (2) 2CaSO.. H,0

(c) TR 3% uRd (3) 96500 dHeiA

(d) CH, (4) WARA

() vde faegqa RoncA® o (5) 22.4 e

Match the pairs correctly:-

(@) Volume of 1 mole at N.T.P (1) SP? Hybridization
(b) One farade (2) 2CaSo4. HO

(c) Plaster of Paris (8) 96500 coulombs
(dy CH, (4)  Fluorine

(e) Most electronegative element (5) 22.4 liter
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4 TH 90T/ Te H IR Qlford— (1x5=5)

9.5

4.6

[313]

1) UH dd TP URHETY] HHTG f4=T 1 92T TR YR FA 2 Sh] FIT Hhad ar
! !

(2) oA rfafrar &1 A faRey g ardreReT | ST o Il 2 |

(3) 3Mgd ST BT PH AN &1 &7

(4) wowIgS IARDT BT AEYT fb fafey & fhar e 87
(6) W& AASIP dY BT Th IRV Il |

Write answer in one sentence/one words:-

(1) What is the name of elements having same atomic masses but different atomic no?
(2) Name the type of reaction in which heat is taken from the surroundings.

(8) What is the PH value of distil water?

(4)  Which method is used for the concentration of sulphide ores?

(5) Give an example of co-valent bond.
TS fHRolf BT HATe fHRor Rl Bed 77 (2)
Why anode rays are also known as canal rays?

31dr / OR

MY rad Fraq oI HUSelit & afrad 1| &1 aiR¢TT SIr |

Define Modern periodic table and Mendeleev’s periodic table.

FHIGIAT BT GRETT fIRay den 39 IR & M forlRay | (2)

Define Isomerism and write the types of it.

31dr / OR

YW AR JEI BIgSIDblad A T FHId 272
What do you understand by saturated and unsaturated hydrocarbon?
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RO @R oiq ¥ 3faR faRady | (@1 F)
Write three differences between calcination and roasting.

3e0dr / OR
fr=forRad & g ferRaa—
() @E BT AT
(iy IR
(iiiy T BT TR
Write the formula for the following-
(i)  Baking soda
(i)  Borax

(iii)  lime stone
AHAT qd TN S 99T § | i?
Why transition element form coloured compound?

31211 / OR
HHHT TV ST IIRD BT & | T2

Why transition elements are good catalyst?

29 & ReR T Ghord &1 =y fRay | Serevor |fed |

Write the Hess’law of constant Heat summation with example.

3e0d1 / OR

1 BT AT
(i) AT &Y srfafshar
(i) AT TSI QMY
Explain the following-
(i)  Exothermic Reaction
(i) Endothermic Reaction
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U410 oN—3Mdfery &7 8 @7 87 fa=ferRad SifAfshar UR g, g1 9o dArsdl &l &=l
TS TS | (4)
N, + 3 H, =2NHs+ QCal

What is the Le — chatelier's principle? Write the effect of temperature, pressure and

concentration on the given reaction.

N> + 3 H, =2 NH; + QCal

U 11 JJTAHI b AT BT ST Wod- At JHs1sy | (@)

Explain the froth flotation process for concentration of ore.

a1/ OR

FARITS URATY] (8 BEd 57 BISglor & [dhd- FHRINEG YRAY] B 2 |

What are Isotopes? How many Isotopes of hydrogen are there.

912 4 % AB 3R C &I UgaMI— (4)
. 1%Hg SO
() CH,=CH B, o _ak 4
S > % xom® 291, SO,

(i) CHy CHO _NaOH , A NOH g Cly /hy, .
a

Identify A, B and C

(i) CH, = CH, B, A Kgg(H B lz/Z/HSISé)SC
olla 4

(i)  CH3; CHO NaOH A l\éaOOH
a

Cl, /h,

B C
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31041 / OR
=1 arfaifharetl &1 |AHsIST—
() NTSHR A oTHfhar
(i) g At
Explain the following reactions:-

(i)  Reimer Tiemann Reaction

(i)  Coupling Reaction

I fgeiiad 3R qeid Tedbled H 3R T B |
Differentiate between primary, secondary and tertiary alcohol.

a1/ OR

T Bl AAESd—

(i) PIfa THF grefor
(i)  SMTSIHH ULrefor
Explain the following:-

(i)  Carbyl amine test

(i)  lodoform test

MY I FHIHRT AT 27 THADT Aol Wi HIfoT |

What is Ideal gas equation? Derive its mathematical expression.

31q1 / OR

7 &I FHSa—

(i) ST IR

iy Tevsar yvE

Explain the following:-

(i)  Brownian motion

(i) Tyndall effect

Page 8 of 12
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U.15 3MHaTS & Fad FHsmey | (5)

Explain the Aufbau’s Principle.
3dar / OR
fFferRad @1 aRvTiT BIfoR—
()  SATEE BIoT
(OIESICERSCIN
(i) 3TEET STl
Define the following-
() Bond angle
(i)  bond length

(i)  Bond energy
.16 UHIfeeld 999 &1 gammemen fafYy &1 gafae gierer faiRgu vd SUdRer @T

reifebe Y@ ae g | ()
Give Reaction of laboratory preparation of Acetelene with labelled diagram.

a1/ OR

GARTEIAT H FARIBH S g7a1 & | Aia Afifhar s faRay |

Write chemical equation for different steps of preparing chloroform in laboratory with diagram.

39T — ¥ PART-B

$HY IA™IF_Agriculture Chemistry

717 Ge fhdy YeR B g 87 (2)

How many types of soil are there?
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a1/ OR

B TS WE T 87

What is Farm Yard fertilizer?

718 HHA HHURE FT 57 (2)

What is Vermi Compost?

3Aqd1 / OR
IREG FIT B &7
What is fertilizer?
U.19 G&H UIYH 3R ged Ulvd H dF AR T BT | 3)

Differentiate between Micro nutrients and Macro nutrients.

31dr / OR

NSRRI BT SYINT BRI I I A Fraenf=a Y@= arfed?

What precautions should be taken during the use of pesticides?

¥.20 UIeY gig TMIE F1 B 87 OIF UIey gfg g™ & AW folRay | (3)

What are plant growth simulating hormone? Give three names of plant growth hormones.
31041/ OR

ST AR T 2° AHesy |

Explain Bio Control.
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OId YIRIF Bio Chemistry

NN T 8? (2)
What are proteins?

3e0d1 / OR
JeT 3N T § 3R forar |
Differentiate between oil and fat.

FraEISSC FIT B 87 (2)

What are Carbohydrate?

3AAd1 / OR
foafoe @1 v falRed |
Define lipid.
JRTAU T SITAT § 19 3R fIRay | (3)

Give three differences between R.N.A and D.N.A

31dr / OR

TSITgH T 87 90T $9d SUINT foRay |

What are Enzymes? Give its uses.

AT HaRIgS, SEADSS R UlelNDRISS 0T 8?2 TAd B Udh S8l af | (3)

What are Monosaccharide, disaccharide and polysaccharide and give one example of each.

a1/ OR

forfre ol wrepiforfie & 9 3idy e &Y |

Give three differences between lipid and phospholipid.
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TIfaRUT YETIF Environmental Chemistry

Slared fa ded 27

What is Biosphere?

317q1 / OR
U1 HYYT T 27?
What is Photosynthesis?
fB=el a1 9RT argall & 9 Jarsy |
Give the names of any two heavy metals.

31dr / OR

IR T g9 A4} &1 79 iRy |

Give the names of any four green house gases.

TGS AT & AT FHEAA DY 98T © |

How does the sea level increases with Global Warming.

31e1d1 / OR
BT RIFer T 799 3R TITIRYT B A9Ifdd Fbe T 27

What are the predicted danger to human and environment from Nuclear reactor?

IS URd T 82 3Ol &l BHl & JITd T 87

What is Ozone layer? Explain the effect of decreasing ozone.

31dr / OR

I 3R fgciie Uqud &I FHeiel |
Explain the primary and secondary pollutant.
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G YT BT HAT : 20 % JB DI FE=AT : 08
Total No. of Questions: 20 Total No. of Pages: 08

ERR Advsyl e, R — 2017

314

Subject: BIOLOGY (Theory)

FHI 1 03 T quifes : 075
Time: 03 Hours Maximum Marks: 075
faeer—

() T geT S &

(i) ¥¥7 97 § 7 @vs 74 & @vs I’ 3v gvs §'/

(i) @GvS I B T gIT farf &

(iv) @58 § @ [Qdcql & & e v by & &8 g97 507 Hvr &/
(v) 78T 1GeqF & T8I W G Tibd A7 T 959 /

(vi) TGS, JfTgIIT, TGIFTNT B BIg TH FEE B QBT T/

Instructions:-
(i)  All Questions are compulsory.
(ii)  There are two section of paper section A and section B.
(iii)  All questions of section A are compulsory.
(iv) Options are given in section B. Attempt any one option I or Il.
(v) Draw neat & labelled diagrams wherever necessary.
(vi) Except objective type, very short answer and short answer type questions, all other

questions will have options.
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9.1

Yvs — 3 / PART-A

Rad w2l @ gfed a1 — (1X5=5)

Fill in the blanks —

(i) SaTo] BF BIRMBTIHRT oo BT g1 BT B
Cell wall of Bacteria is Made Up Of..............ocoreveereeeeeseseeeeeeeene.

(i) TE BT TIC T oo % HROT BIAT ¢ |
Smut disease in wheat is CauSEd by ..............ocvoveeeverereereieeeean,

(i) TRTDHT BT SMERIT TBTS oo 2
Fundamental unit of TAXONOMY iS............c.oireeeeeeeeeeeeeeseeeeeeeeeenn.

(V) STRIRT oo e geT BT B |
DIOSEIA IS ....veeeeeeeeeeeeeeee et plant

O T3] AP ¢ |
BIOOT IS ... veeeeeeeeeee e, tissue.

U2 el [dweu g — (1X5=5)

[314]

Choose the correct option-

(i)

IRCToll HIRIGRI g8 ol & —

(A) gab H (B) IS H
(C) Fhd H (D) guoT H
Sertoli cells are found -

(A) In Kidney (B) InOvary
(C) Inliver (D) InTestis
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(i)

Hypanthodium is a type of -
(A)  Fruit
(C) Inflorescence

Yor Uy B —
(A)  TH TfOTd
(c) frfrg

Endosperm is -
(A) Haploid
(@)

ERIRIESRIR IR
JMHTIRT 3 |

Triploid

(A)
(C) TRl < H
Bilirubin is found in -

(A)  Gastric juice
(©)

IR A YIS 9T SidT g —
arfer
IaTRRer

Pancreatic juice

(A)
(©)

Ossein protein is found in -

(A) Bones

(C) Cartilage

Page 3 of 8

Flower

Ovary

fRrgfora
qgTforT

Diploid

Polyploid

g xa ¥

AT X H

Bile juice

Intestinal juice

ufraf

EREAGICIEIN

Muscles

None of these
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93 U®H ek I1 a/9g H IR fora@li— (1x5=5)

Give one word answers —

() fawg gafaRor e Fa A= 1T 2 |
When world Environmental day is celebrated?

(i) o9 gI T fHa gl § Uy 9 2
Sunken stomata are found in which plants?

(i) gt § & A1 fAerf®q grar Srdr 27
Which vitamin is found in Amla?

(iv) ¥ U%. . BT g1 A forn |

Write Full name of C.F.C.

(v) CIIICH FT 2?
What is Tubectomy?
U4 ¥ SASAr g8y — (5)
- -
(i)  ISIAT UIerHeR (A) BSI
(S ESLERE (B) Tabh DI SDIS
(ii) B (C) aricaS
(iv) gRaT feior (D) TSI ReNIHRu]
(v) U A (E) T

[314] Page 4 of 8 (1530)



Match the column —

"
(i)  Ganong’s Potometer (A)
(i) Rhizobium (B)
(iii)  Nephron (C)
(iv)  Urea formation (D)
(v) Pacemaker (E)

U5 I /9y fora@r —

Write True / False -

() TSl ST FA gHRI I AT o7 |
First animal clone made was goat.

(i) SRR H B I HER FHIHAT 2 |
Leukemia is blood cancer.

(i) TR fpvaT ufshar &1 STe B

Paneer is product of fermentation.

B’
Heart

Unit of kidney
Transpiration
Nitrogen fixation

Liver

[aN o \

(iv) STIEIRIT ARIIHDBT gRT IATed R AARIT R

The vaccine obtained from Genetic engineering is malaria vaccine.

(v) WTSIve ST 31U+l Sfieufad o yeffa A8) &xd |

Silent genes do not express themselves.

U6 WIN UG Hed Bl Sid d=i+e A4 for |

Write the Biological name of Human and Frog.

U7 ISl 3T Bl ISIENYT Afed AT |

Explain Vestigial organ with example.
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HAERT ST & g1 e7oT forar |

Write two characters of Monera Kingdom.
g @ 27
What is Double Fertilization?

STISId Sild ¥ 37T T FHsTd 8l?

What do you understand by Transgenic Organism?
Sie @l < faeryarnt forar |

Write three characteristics of Root.

3T BIRTRT BT AHifhd = a7 |

Draw the labelled diagram of Nerve cell.

YUl YHTFAAT BT SETERVT Afed AT |

Explain Incomplete dominance with example.

yferoifae a7 27 el <1 ufaoifdsl & = 9 g foran |

What are antibiotics? Name two antibiotics and their sources.
S oTd & g faRivang forRed |
Write the main characteristics of Animal kingdom.

3dT / OR
T o Uil U9 fedioroiT diel & iy forar |

Write the difference between Monocot and Dicot plants.

UhTI FIAYUT bl Y9I BN dTel TN PRDI DT qUI hJ |

Write four factors which affects photosynthesis.

Page 6 of 8
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34T /OR

gforad! fohamnt @ar 27 afrs aHsmsy |

What is reflex action? Explain with diagram.

T.17 SRl 999 TG MR 3999 | 3fax forar | (5)

Write the difference between Aerobic and Anaerobic respiration.

3Ad1 /OR

WHET & Yoo Ud d8 B4 DI UlhaAT DI AlH FHSI |

Explain the opening and closing process of stomata with diagram.

U.18 A YWY FIT 2° IR UGEU fhd UBR AMG Siad &l YHIfad oxar &2 (5)

What do you mean by air pollution? How does of air pollution affect human beings?

34T /OR

STHAEIT fawhle | Y 1 9 81?7 $HD UHE BRI UG SURIT BT 9ol B |

What is population explosion? Explain it. What are the reasons and how it can be controlled?

Yvs — 94 / PART-B

fd®ed — 1 / Option -1
U419 SHddb Faed R 2° 39 O & Seey forar | (5)

What is tissue culture? Write its objectives?

¥.20 AYad e <2l o1 AHifha o g | (5)

Draw a well labelled diagram of compound microscope.
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fd®weg — 11 / Option - I

U.19 BISSIUIMTT BT FraF avi« BRI g o fora |

Explain hydroponics with diagram. Give its advantages.

g.20 f=faRad & Sia dsnfee 7 foran |

(1) <=

(2) rRaen
(3) it

(4) s el
() #ex

Write the Biological name of the following-
(1) Lac

(2) Ashwagandha

(c) Amla

(4) Safed musli

(5) Pea

[314] Page 8 of 8
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315
fawy : gfos™

Subject: HISTORY

FHI 1 03 T quifes : 100
Time: 03 Hours Maximum Marks: 100
-

() & gv7 BV STt 8/

(i) 797 HHF 1 & 5 TF JGTT F97 8/ JAH F97 5 3 BT &/

(iii) T FHH 6 G 10 TF JAF J97 & [/ 2 3F & VT Jcdb &I IV ATHT
20 FIgT & foramr &/

(iv) F97 HFE 11 & 15 TF JdF J997 & [/ 3 3/F & VT Fdb F99 B IOV
STTHT 30 Fs5t F ferar &/

(V) T3 HHIFE 16 & 20 TF AP 97 & [0 4 3F & VT gAH §97 HT IOV
STTHT 40 It § feregar &/

(Vi) FFT FHIF 21 & 22 TF AP 97 & [0 5 3F & VT gAH F97 HT IOV
STTHIT 75 FIg) H feregar 8/

(Vi) F¥T HIE 23 3N 24 TF GAF FIT & o7 10 3F & VG FAH FIT HT GV
STTHT 150 FIsqt o foregeir &'/

Instruction:-

(i)  All questions are compulsory.

(ii) Question Nos.1 to 5 are objective types. Each question is allotted 5 marks.

(iii) Question Nos. 6 to 10 carry 2 marks each and answer should be written in
about 20 words each.

(iv) Question Nos. 11 to 15 carry 3 marks each and answer should be written in
about 30 words each.

(v) Question Nos. 16 to 20 carry 4 marks each and answer should be written in
about 40 words each.

(vi) Question Nos. 21 to 22 carry 5 marks each and answer should be written in
about 75 words each.

(vii) Question Nos. 23 or 24 carry 10 marks each and answer should be written
in about 150 words each.
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Reret zerl @1 gfef SR | ()

OIS ARG R IS IS K AR IS ofr |
TG A G 15 S BT H BT |
SIS LIS L 2 < I N = foar e
(iv) T SOSTT FHATIR TF BT TBTIT oo = faar |
IR IES IR IS BC A RS LS i | T P o

Fill in the blanks:

(i)  The last ruler Lodi dynasty Was...........ccoeviuiiiiiiiiiiieae e

(i)  Agriculture was begininthe time of ...

(iii)  The end of Sati Prathawas done by ..........cooiiiiiii e,
(iv)  The publication of young India Newspaper was done by ............c..ccoeeieninnnnn.

(v)  Established of Indian National congress had been done by.....................

f=ferRad arat & w1 /e forRay — (5)

() I G- | WY $ NS °AMG DI ST o |

(i) DI M BT oIGdh Jgelholel AT |

(i) STETFATST DI RATYAT WH TG 7 DI oY |
(iv) STTel fITST 1905 8. ® <lfe doid o1 foar o |
(v) SIA—3TIde BT HIHR BT HaR HET STl 2 |

Write True / False in the following sentence:

(i)  Chandragupta maurya defeated ruler of magadh Ghananand.

(i)  Abulfazal was the writer of ‘Akbarnama’.

(iii)  The establishment of ‘Brahma Samaj’ had been done by Swami Dayanand Saraswati.
(iv) In 1905 A.D. Partition of Bengal had been done by Lord Karjan.

(v)  Zain-ul-Abidin is called Akbar of Kashmir.
Page 2 of 8 (3420)
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3y q
HETHITIE (@) ETelvs & BT TR H
ICRIRIRSIRIEIN (@) HIFET WD
3eTs & &1 ShusT (1) <ToS! AN
Srafde (@) HArETorEe
RIS =ITATer (8) g == a4
Make the correct pair:
" -
Mahatma Gandhi (@) Inthe Hague city of Holland

4.

5.

Vishal Snanagar (b)  Qutubuddin Aibak

Adhai Din ka Jhopda (c) Dandi Abhiyan
Jai Hind (d) Mohan Jodhdo
International Court (e) Subhashchandra Bose

f=faRad go=l &1 STR UH IMeg 1qdT U a1 H filRay —

1.

1857 3. @ Hifd BT forg T oOr?

TRd # (Ui e & gudd w97

GReT uRye H Il 9ewil o1 fel AT fha &7

gorq fded gg 1 dThIfcld HROT AT oAT?

JI9 YA 98 &1 91 forRau |

Page 3 of 8
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Write the answer of the following questions in a word or sentence each —
1. What was the sign of the Revolution of 18577

2. Who was the supporter of English education in India?

3.  How many permanent members are there in the Security Council?
4.  What was the immediate reason of First World War?

5. Write the name of the Ancient Veda?

us frfaRad ot & 98 fees gaee forfay—
(31) U2y @1 AMTHR garm oA —
(i) YRGS BT (i)  HEIUTSTOT Bl

(i)  TIATSTOT BTt (iv) ST Bret

@) IRHISTH 9Rd & Hd §exT8 R ggdr —

(i) T (i) ¥

(i) T~Ts (iv) BIAIdpe
(@) ¥ 9 ¥ ST Geurds HauLH ARY B3 —

(i) ¥R (i) S

(i) TATelR (iv) STgAYR
(8) TR -1 9Rd WR Hd AEHAT o —

(i) 1388 . (i) 1398 S.

(i) 1414 S. (iv) 1415 %.

(3) = & ey &1 gad ey o1 —
(i) faeT (i) MR

(iiy Wi (iv) I+
[315] Page 4 of 8 (3420)



4.6

7

.8

9.9

[315]

Choose and write the correct answer in the fallowing questions —

(a)

Discovery of wheel had been done -

(i)  In Present Stone Age (i)  In Middle Stone Age

(iii)  In New Stone Age (iv) Modern Age
In which harbour of India Vasco da gama had reached-

()  Mumbai (i) Goa

(i)  Chennai (iv) Kalikat

In which city of M.P. Flag movement began first -

()  Indore (i)  Satna

(i)  Gwalior (iv) Jabalpur
When Temur attacked on India?

(i) 1388 A.D. (i) 1398 A.D.
(i) 1414 A.D. (iv) 1415A.D.

Which was not the member of union of nation from the following -

(i)  Britain (i)  America
(i)  France (iv) China
TAUTTOT BT BT T faRvemg forfay |
Write any two characteristics of the Neolithic age?
Sufye & MY FIT FHST B2

What do you understand by Upnishad?
RO B enfifes Aify @1 a1 faRvang faRay |

Write any two characteristics of Aurangzeb’s religious policy?
QeTTferal & Uae @ &1 RV fTRkay |

Write any two reasons of the decline of Purtagalies?

Page 5 of 8

(3420)

)

@

)

@



910

911

12

.13

.14

.15

U.16

17

[315]

JoigleN &l gl & IR § foTfRau |

Write about the accident of ‘Pearl Harbour’?

SH gH b BRET T 2? e M foikey
What are the Triratna of Jain religion, write their names?

fafewr e &1 yRAG 3nfde Sias R w1 y9rg ger, forlRau?

Write the effect of the British administration on the Indian Financial life?

@l & g d A BRT IRy |

Write three reasons of the Battle of Plassey.

RIATHd 3Tele™ bl FHSTSY | (erd)
Explain the Khilafat movement in short.

IR T B &) XA S T A S faaRay |

Write the main aims of the establishment of Indian National Congress.

JUITSTH €F &I IRAT DI |
Explain ‘Varnashram a Religion’.

31141 / OR

JaT 3R AT & IR H FHSSV |

Explain about Sabha & Samiti.
ST AT & Udd & BRI foIRgu |

Write reasons of decline of Harappa Civilization.

31141 / OR

Ry FIar @ TR A FaRT & IR Al IR yarr Siferd |

Pour light on four points of planning system of Sindhu Civilization.
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U & Yo g @ 91 gRend gy |

Describe consequences of the first battle of Panipat?

31141 / OR

I BT WU BAT BT qU DI |

Describe the establishment art of the period of Mughals?

wBT Hifd BT wd TR RT g97d gel, forRay?

What was the effect of Russian Revolution on Russia?

31141 / OR

ger e g & RN &I AR HITOIT |

Describe the reasons of the First World War?
wR_TeT I At & wu # R &1 qedied Hifvr |
Evaluate Shivaji as the Maratha Nation Maker?

31141 / OR

fRraroh 7 rwoliel @l &1 a9 Fj fhar or?

Why did Shivaji killed Afzal khan?

<l BTl DI UG Fl HET STl &7 AN |

Explain why Gupta period is known as Goldern period?

31141 / OR

AR BT & IdT & BRON bl ARAT HIFOT |

Explain the reasons of decline of Maurya Period.

TfaTg 39T 3Nale™ B JasSY |

Explain Savinay Awagya Movement.
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a1/ OR

STfeTITaTel a1 BATHhIS &I Tl Bl FHSSY |

Explain the accident of Jaliyanwala Bagh Murder case?

JTATSEA Raefoll & IR AT =T $I A | (10)
Explain the ‘market control’ system of Alauddin Khilji.

3Id1/OR

JewIe e 1 Fidfad el Td IS aRad= AT UR Tl Sifer |

Pour light on “Indicating currency” & capital change plan of Mohd. Tughlug.

1857 & fagIE & HRON B FHSTSY | (10)
Explain the reasons for the struggle of 1857.

3Id1/OR

T AHAES U AT BT IRTET {eTRag |

What was the contribution of ‘Queen Rani Laxmi Bai’ & “Tatya Tope” in the struggle of 18577
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316
fawa : e

Subject: GEOGRAPHY

FHI 1 03 T quifes : 100
Time: 03 Hours Maximum Marks: 100
faaer—

(i) G 7o 7T &/

(i) 797 PHIH 1 & 5 T JegI70 F97 &/ FAB 97 5 3F BT &/

(iii) 797 FHE 6 T 26 TH 4 =<RE fAdey 8T 79 &/

(iv) %9 & GV [FEiRa vsg iar & forfe—
2 3@ qIel ge & STV 30 =) A 3 3 qiet g & GV 75 TG H 4
3 Tt F9I @ TV 120 IR 7 VG 5 3F qIct G P GV ATHT 140
Trset 7 e/

(v) OFET 3a9gE 8 TFENFGT AT 75T/

Note-

(i)  All questions are compulsory.

(ii)  Question No 1 to 5 are objective type, each Question carry 5 marks.

(iii) Internal options are given in Q. No 6 to 26.

(iv)  Write your answer in specified word limit, Answer 2 marks Questions in 30 words,
Answer 3 marks Questions in 75 words, Answer 4 marks Question 120 words.
and Answer 5 marks Question in about 140 words.

(v) Draw labelled diagrams along with answers wherever necessary to make answer

more clear.
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[316]

AEl fdden gaax ferRay—
@) B wE Frae T8 8-
i g%
(i) geA

(i)  HITA

(iv) 3P

@) JIRG & d1% AT argAvSS TH BIAT W8T o—

() AT g
iy urffa faferor gwRr
(i) T BRI
(iv) Fargd gRI
(M) IOR &1 Fared gdd RreR 8-
(i) K2
(i)  HETS
(i) =T <
(iv) TIR¥E

(@) WRA & Falfdd BT SUTEH &3 82—

(i) NS
(iy deATSIar
(i) STRET
(iv) dTefeR
(3) DI Y™ BT ST 8—

T SENT

(
(i) BRI SENT
(
(

iy faSTell & U SENT
iv)  HITT SERT
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Choose the correct option:-

(A) Nearest planet from Sun is-

(i)  Mercury
(i)  Earth
(iii)  Mars
(iv) Venus

(B) Atmosphere is hot even after sunset-
(i By sunset
(i) By terrestrial radiation
(i)  Conduction
(iv) Convention
(C) Highest monutain peak in the world is-
iy K2
(i)  Kanchen Junga
(i)  Nanda devi
(iv) Everest

(D) Highest production area of coal in India-

()  Raniganj
(i) Baladila
(iv) Jhariya
(i)  Talchir

(E) Small scale industry is-
(i)  Sugar Industry
(i)  Paper Industry
(iii)  Electric fan Industry

(iv) Cotton Industry
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Rerer <ol @1 g Sy

(31) AIATSA H ATGEITTT TR gforerd g |

(@) BT JhR B T BT SETERT T |
() 9RG H TG IMAD G T TR =

(@) < & UH U A TR A W A Bl FEd T
(3) SIS AT H 3T BT TR BT 2 |

Fill in the blanks:-

(A) The percentage of Nitrogen gas in Atmosphere is.....................

(B) Diamondis anexample of..............cccoeininnnn. Type of rock.

(C) Most Drought-Hit state in Indiais........................

(D) Movement of people from one place to another place is called .............
(

E) Main source of Income in tribal community is.......................

A /™ ddIgUi—

(@) B US UM iS99I B |

@) TTARER BUIRT el BT ISR ¢ |

(F) Y9Rd &7 SR BR FHUGEIAR © |

(?) e ¥ I fga am fag@ dear © |
(§) YR ¥ wied &I JUR WG T |

Write True / False:-

(A) Green Tree plants produces oxygen.

(B) Marble is an example of metamorphic rock.

(C) Southern most point of India is Kanya Kumari.

(D) Electricity produced by coal is known asThermal Electricity.

(E) The scope of Tourism in India is infinite.
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U4 UP I /IR H IR SIST0— (5)
(1) & Aved @) sia Aers forfay |

@) \Hred gl ¥ ST gY s@dal @ M faRkay |
(d) UITaRT BT 31T Tedh b PHEd & |

(8) ™ fd YR &I STy Bl Urem 2 |

(3) ¥RA H Hdted O B9 dTel 5T & AW fafRau |

Answer in one sentence each:-

Write thickness of Troposphere.(Average)
Write the name of earth movement produced by compressive force.

(A)
(B)
(C) Which is the Inorganic decomposer of environment
(D) Tea plant is which kind of climate’s plant.

(E)

Write the name of highest population density state in India.

g5 el SISl gAgy— (5)

(@) HET I ATAES () T SUINT ST i I o H & 2|

@) ERigpre yRITSHT (i) STPRI

SREIESISE! (REGSE!

(@ e gfor (iv) ST (FRT)

(g) <freT swurd (v) @ Af&B AAT & HROT gedl HT 919 9¢ T © |

Match the following:-

(A) Carbon dioxide (i) s used by living being in Respiration

(B) Herakund project (i)  Bakaro

(C) Oxygen (i)  Chitranjan

(D) Rail engine (iv) Orissa (Mahanadi)

(E) Iron steel (v)  Excess of this results in & increasing tempture of
Earth
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IHT goic fhd Hed 87

What is Heat Budget?

312741 / OR
TAvSART A9 o FEd 82
What is global warming?
SAR ATeT BT gRaTT EIRTY |
Write the definition of Tide.
312741 / OR

JAqTaT v fh dEd ©°
What is salinity?
YRA B YA 9 ol gsrdl qul & 9 forfay |

Write the name of neighbouring nations that touch India land border.

312191 / OR
TRd & Fded RBRaR &1 9 fRau |

Write the name of highest peak in India.

el sruved fbd Ped 27

What is soil erosion?

312741 / OR
fAceT TRevr {59 FEd & |
What is soil conservation?
S Frafe it Bt weg &
What is subsistence agriculture?
312041 / OR

WA By b ded 87

What is shifting agriculture?
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HaT WRETT & plg b U IRy |

Write any three ways of soil conversation.

31dr / OR

Sl (FSeHI) & Iy dF e Agw oy |
Write any three economic importance of rocks.

AT & foT0 I8RINRI & BIs oI d8cd follRau |

Write any three importance of Ocean for Human beings.

31edr / OR

Aqurar b wEd 87 I8 DA ST I S B |

What is salinity? How it is measured.

IR dh BT Aifbd fIa g918U |

Draw a labelled diagram of Oxygen Cycle.

31dr / OR

&y Husd o ded &°

What is Troposphere?

gsh URTET & Pl diFd o foTRau |

Write any three benefits of Road Transportation.

31dr / OR

ST UaTd @ iy oiF aRomd forRay |

Write any three consequences of population migration.

“HIE e, AT DI Uh Heedqul 3T & | e H folkay
Human geography is an important part of geography. Explain in brief
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31041 / OR
ged] IR HUSH BT FAIET 8 & | 4 RY Aled oy |

Earth is a special plant of Solar system. Write with four reasons.

U6 FrfRad &1 aRMIRE IR | (4)
(o7) arg wf
(@) ot

Define the following.
(@) Air Masses

(b) Front
3e0d1 / OR

ARG 9o {6 dEd 57 3 fhas UeR @ gl 27
What are Monsoon winds? What are type its?

.17 T IR 99 H dls IR =R forRau | (4)
What any four differences between folds and faults?

31dr / OR

YHH A B Py IR BRI [TRaY |

Write any four causes of earthquake.

T.18 3NSIF URd BT A forRay | (4)

Write the importance of Ozone layer.

31dr / OR

gRaUE yva fod wed 87 39 y9a & aRum falay (@1 F)

What is green house effect? Write any three results by its effects.
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9.20

.21

Y.22

[316]

H faRay |
Write any four sources of non-conventional energy, and explain any one in brief.

a1/ OR

gferoT AT B GRETT & Bhls AR SURT BT guid DI |

Write any four ways of conservation of mineral resources.

WM &7 A= & ggwed | qEfas & SyAifiar forlRau |

Write the utility of map in the management of local area.

a1/ OR

AT U4 A aeIdhdrsll & 419 Aol a91g @] Fil LD o °

Why maintain balance between resources and Human need is necessary?

ol & & e # wieT @ 9ffeT o arRar Sy |

Explain the role of Tourism in the development activities of any region.

a1/ OR

Ried BT 98 a1y |

Explain the importance of Tourism.

quf faT bR &1 Bt 87 9™ foaRau, 5l T yaR &1 afed aui= S |

Which kind of Rainfall and write its name and describe any one kind with diagram?

a1/ OR

A 3R STerarg | By uia 3R faIlay |

Write any five differences between Flods and Faults.
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qddi T AT Siad § Hgd falkay | (P1s dra) ()
Write any five importance of mountains in human life.

31dr / OR

et &1 nfdfer we folay (@1 dfa)
Write economic importance of plains (any five)

gf¥erirere ud gdidgre # @i uig =R forfey | (5)

Write any five differences between west coastal and east coastal plain.

31edr / OR

SIRIT g T gy a99fd & 919 urg IR foRau |

Write five differences between Tidal tree and mountainous tree.

few v favg & AweR Afas § fAefoRaa sigu— (5)

(A) BT IB8NrR

(B) T=E

(C) T IS

(D) feHTerd udd

(E) UHTHT 8%

Show the following in map of the world-
(A) Indian Ocean

(B) Mumbai

(C) New York-Port

(D) Himalaya mountain

(E) Panama Canal
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312ar / OR
(A) 3Rd AR
(B) WISl &R
(C) faoel

(D) ATH ¥ <A STl AN
(SEERIRICIREIS]

(A) Arabian Sea

(B) Suez Canal

(C) Delhi

(D) New York to London waterways

(E) Bay of Bengal

26 YRd # U ARl & Bl Ura Ufowar & A9 forgdy fodl te ufawu &1 =
afd 9vi= SR | (5)

Write the name of any five counterpart of dense-domicile in India. Explain any one counterpart

with diagram.

a1/ OR

IRA ¥ A4 [JbT Gadid HH 8 & Bl Urd HRUT fIRey |

Write any five causes for shortening of Human development Index in India.
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317
Qwg : IoHfa fasm

Subject: POLITICAL SCIENCE

HHY : 03 HUC quIid : 100
Time: 03 Hours Maximum Marks: 100
fader —

() 39 J¥7-97 ¥ g @US 8- @US I T GUvS '/

(i) @IS I P T g7 I &

(i) TS § P T [(eey &/ goentlal & »ae v& [Aeeq & & 799 &
TV &7 &/
(iv) F&F g7 & b IHF rH7 3idd &/
Note:
(i) The question paper consists of two Sections - Section ‘A’ and Section ‘B’.
(ii)  All questions in section ‘A’ are compulsory.
(iii) Section ‘B’ has two options, Candidates are required to attempt questions from

one Option only.

(iv) Marks of each question are indicated against it.
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Yuvs — 31 SECTION-A

g1 Rad == &1 gfid sifsg— (1X5=5)
Fill in the blanks-
(1) OIfACET TR oo Tres 9 foram T 7 | (Uifers, gferd, )
The term Politics is derived from the word ............cocooiiiiiiiis (Polis, police, state)
(2) TPH ST B ARE URAR BT AT T oo 2| (U8, 915 H)
Family, as an association, is .........ccccoviiiiiiiiiiii to the state. (Prior, later)
()T 153 11 @ fovg & ufafear g1 ( HHTSTATS)
Marxism is a reaction against ...........cccoeoeieiiiiiiiiiiiieeaen (Feudalism, Capitalism)
(4) RT H IH FIRUETAT BT BT oo =
EH o7 IRHR, 9 gH BT T, T 70T gH BT THM)
Secularism in INAI@ MEANS ... e
(Rejection of /respect for all the religions/ respect for ones own religion)
(5)  SHATAAT B SITBTR BT TET oo fave AT AT ©
(A, ATIRT®, IISTITTD)
Right to Equality aims at an end to...........cooiiiiiiiiiiii e discrimination.
(moral/ social/ political)
g2 el fdweu ey forfay — (1X5=5)
Write the correct option :-
DL . YOl T S HR a1 T 7 |
CSIEIESL IR INEIEY
The (o system has been abolished all over India.
(Capitalist, zamindari, caste)
[317] Page 2 of 12 (3960)
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(97, 66, 47)

The union List CONSISIS Of ... ..o subjects.
(97, 66, 47)

L2 R A o< e o] 81 fhar 13 2 |

Financial Emergency has been imposed in our country only ..........ccoooiiiiiiiiiiininennn.
(Once, twice, never)

L T B 2 [ 72 s M 23 < o BT B
(ST T 31eged, Y= Hall, rgufa)

The meetings of the cabinet are presided over by the ..o,
(Speaker of Lok Sabha / Prime Minister / president)

aTed IRTAT D RITITITE oo ay Bl AP H AT B I B |
(60, 62, 65)

The judges of Supreme Court retire atthe age of ...,
(60, 62, 65)

U%h qr9g /9eq | SR forfay — (1X5=5)

Write answer in one sentence / word -

(1)

@)

O 9T &1 9e 94 & foly <[Aa¥ oy fhaw a¥ =1 (21, 25, 30)
The minimum age for being a member of Vidhan Sabha is ............ years. (21, 25, 30)
Iod RIS & <Al &1 Fgfad 19 wRar &7 ({rogure, Irguf, gar w34)

The judges of the High Court are appointed by the ...t
(Governor, President, Prime Minister)

R I ™ &1 A= dridTd foad oy © |(F, IR, uid)

Normal tenure of urban local bodiesis ...........ccccoevevvinnn ... years. (Three, four, five)
A B [ T @ PRI, &)

National conference is a .........cocoeiviiiiininininnnnn. party. (National, regional)

............................................. H SEET H RRAT 3T gl & | (STR U, B

Population has been stabilized in..................ooeine. (Uttar Pradesh / Kerala)
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[317]

ST BT aRYTIT IR |

Write the definition of public opinion.
TS ITAT DI U IR B Al 2?

What are the main challenges of good governance?

ST 3R IS & 99 iR 9dT8Y |

Explain the difference between state and society.

STt fasme & eref forlRey |

Write the meaning of political science.

Afaegm fod wed 8?

What is the constitution called?

IR & U Ig vq &l Iraa foried |
Write two qualifications for president of Indian.
RS MY T AT 27

What is the subject of the state nation?

T T oI gl @ A foIlRa |
Write the names of three national political parties.
TS & QMY FT I B2

What do you understand by cabinet?

IR ™ & @ S I I | 82

Who are the main sources of the Indian Constitution?

Ui & fAumi eifddal & wse ST |

Explain the legislative powers of the President.
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T e & yvmEt BT auie ST | (4)

Describe the effects of the financial crisis.

HeY § qargy b MNSAT Apad bl fbd TR GuIfad Bl 87 (a)
Explain in brief how does the media influence public opinion.
AHITS T ARSI A AT T AHI 87 (a)

What do you think of social and economic justice?

391 /OR

HSR TG ofdiel Gfaem # iR W HIfor |
Define the difference in the harsh and flexible constitution.

TS 9T &? AHSSY | (5)

What is communalism? Explain.

391 /OR
IRA H JREAT AT R =l B |
Discuss the reservation policy in India.
SeRATE B faPwart ol | ()
Write the specialities of liberalism.
3dqr /OR

TENSN & YERTST &Y STTIROT & IR & 9drsd |

Tell us about Gandhiji’s concept of Ramrajya.

“qRT 3R Ui & 9 fdarg &1 BRI IR 27 | T 3T 390 Igad &7 30
R forRay | (5)

“The reason for the dispute between India and Pakistan is Kashmir”. Do you agree with this?
Write your thoughts.
IRA AR A9 & d19 1962 & g & BRI BT qU DI | (5)

Describe the causes of the war of 1962 between India and China.
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Wus — § SECTION-B
(feea — 1) (Option - 1)

g22 (3) eI APy Bifcd —

[317]

Sort correct options

AT I B ASTAH] BT AT Bl 2—
(@1) uR¥ & AT H

(1)

@)

~[ATH b G H

(4) SiFEr & AT H

=)

The United Nations General Assembly is auctioned —

=1 Rera qeared #

At the headquarters of Paris
At New York’s headquarters
In Geneva’s headquarters

At Hague’s headquarters

R ~IrITery It Rerd & —
@) uR«s

@)

R[ATD

(@) SiHar

=)

&l

The international court is located here -

(A)
(B)
(C)
(D)

Paris
New York
Geneva

The Hague
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)

YT I BT FIH ATAYUT 3T & —

(31) wETOHT

@) grem uRue

(|) SRR e

@) = uRug

The most important part of the United Nations is-
(A)  General Assembly

(B)  Security Council

(C) International Court of Justice
(D)  Trust Council

WA FIFT ¢ BT e g1 —

(?1) SraCaR 1945

(@) deR 1945

@) fadeaR 1945

(&) SNl 1946

India became a member of the United Nations -
(A) October 1945

(B) November 1945

(C) December 1945
(D) January 1946

Jrer uRue H FuEier U g 5
@) 9Rd

@ ==

(@) T

() <ImU=

The Security Council has a prohibited nation -
(A) India

(B) China
(C
(

) Pakistan
D) Japan
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923 (@) &I SIfear T8y — (1X5=5)

Make the correct pair -

() (@)

1. g IS Bl Il EICA
2. AgF g fQaw Bl
3. UYH K B AT 24 3TFCER
4. GReTl URYE & W Fe 1945
5.  HY &I fau B

(A) (B)
1. The establishment of the United Nations Charter
2. United Nations Day Five
3.  United Nations Organ 24" October
4, Permanent member of the security council 1945
5. Union law Six

(Option - 1I) (faeea — 1)
923 Hel f[ddheu Bifcy— (1X10=10)

Sort correct options

(1) WRER BT NG FaRAT AdATfed Bl &—
(@) T T glaeR gR
(@) #BE gR
&) fofda ade gm
(@) WRA & AN §RT

The administrative machinery of the government is run by -
(A) Elected representatives

(B) Ministers
(C) Civil servants
(D) People of India
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@)

fafdet |de o Fgfad w1 arell Wdd ddgiae ol & —
@) HHAR TIT 9IS

(@) g SmANT

() IS SN

() ol HaT M

An independent constitutional agency to recruit civil servants is known as -
(A) Staff Selection Board

(B) Election Commission

(C) Planning Commission

(D) Public Service Commission

Ryfder wde ®1 Wl & Y U was Yol o1 SToxd & Fifd —
(1) uE A HawRll H AT awRAT AR FTHefdT g9 Il & |
@) IE A B JARNBRI Y & FHRA 7|

() aE ARy @7 sdierell a gfl wal © |

(@) vz fafde wde o FYfda o= aren uffeR 2

An independent agency for recruitment of civil servants is required because -

(A) It maintains the merit system and neutrality in civil services.
(B) It protects the rights of the people.

(C) It serves the aspiration of the ministers.

(D) itis an appointing authority of the civil servants.

ol AT RN U —

(@) e sHE ®

@) e saE ©

(M) SRGRI MU gRT WUd 3618 ©
@) 3T A B T

Public Service Commission is a -
(A) Constitutional body

(B) Statutory body
(C) Body setup by an executive decision
(D) None of these
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)

ST AT ATART HTH AT § —

@1 TP il Vol & wU H

@) W R PRI & AFel H AATHR §HIS & wY H
(@) Qe s ?

@) s9H A PIg 7L

Public Service Commission works as -

(A) A recruiting agency

(B) An appointing authority

(C) An advisory body on all government appointments
(D) None of these

JUITER & el IR AW Bl I Ug § BT Sl Jhell & —
(1) w3 uRkee gRI
@) rgufa g
(A) wEEHA §RT

() Wareg T §RI

The chairman and the members of the UPSC can be removed from their post by the -
(A)  Council of Ministers

(B) President

(C) Prime Minister

(D) Supreme Court

JUTEAT & 1 RUIE BT U™ HRAT 9RA & LT BT I § —

@) YRT & Hdted AT & THeT

@) ¥ ® 9Ad

([) AR & TS AR AT WIeTdh B el

() == uRve & axE

It is the duty of the President of India to place the annual report of UPSC before -

(A)  Supreme court of India

(B) Parliament
(C) Controller and Auditor General of India
(D)  Council of Ministers
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(8) WRA WM™ @ ORT 321 & IfAd old HdT MART Bl AfaRaa fhardmary
| S Hhd & —
(&) rsgufcr gy
@) wEEHA §RT
(9) 99 gRT
() wdr=a g gRI

Under article 321 of the Indian Constitution additional functions to the Union public
service commission can be assigned by the -

(A) President

(B) Prime Minister

(C) Parliament

(D)  Supreme Court

(9) T NUERT & WE 3109 U W 9 SH WA TF € Adhd & —
@1 60 a¥
@) 62 a9
(d) 63 a¥
(@) 64 @y
The age limit up to which a member of state PSC may hold his post is -
(A) 60 years

(B) 62 years

(C) 63years

(D) 64 years

(10) TANUERT & A BT HRIBIA Bl 2—

(@) 4 a9
@ 5 a9
@) 6 a9
@ 799

The tenure of a member of SPSC is -

(A) 4years
(B) 5years
(C) 6years
(D) 7 years
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.24 HIpRIMET Bl aRITST foTRay |

Define Bureaucracy

U.25 dfdvc ARG & & BRI &7 57

What are the main functions of the Cabinet Secretariat?

U.26 daR B AIBRRTE! Aledd & R A0 FT © 2

What are the major characteristics of Weber’'s model of Bureaucracy?

U427 BHeald Adddl AR & FaT YHST Bl 27

What is the role of Central Vigilance Commission?

28 bl AREITT & AGAT DI T P |

Discuss the organization of the central Secretariat.
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318
Ay : Il

Subject: ECONOMICS

quifes : 100

Maximum Marks: 100

fder—
(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)
Instruction:-

(0
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

[318]

T goT Jfaref &1 gIT HHE 6 & 26 T TG [AHey 7T T &
7o HHE 1 W 5 TF VG0 J7 &/ FAF J97 & 5 & &/ FIHET G¢
1 3% raied &/

go7 HHF 6 § 10 TF JAF F99 GV 02 3P Jaied 8/ g T IOV
ST 30 &l H [erfgy

go7 HHFE 11 @ 14 TF JAF GV 03 3% JEied 8/ gdd &7 T
T 75 el H [erfqy )

o7 FHIF 15 & 21 TF FAH J97 GV 04 3]F 3Gied 8/ b BT IV
ST 120 sz F ferfeay /

o7 FHIE 22 @ 26 TF FAF UV 05 3 JE@ied & gAd T GV
ST 150 ¥Tsq) 7 [erfay/

STIHATTER 2 V] a7 759 /|

All questions are compulsory. Internal options are given is question number 6 to
26.

Question number 1 to 5 are objective type. Each question carries 05 marks and
each sub question carries 01 mark.

Question number 6 to 10 each carries 2 Marks. Answer these questions
approximately in 30 words each.

Question number 11 to 14 each carries 3 marks. Answer these questions
approximately in 75 words each.

Question number 15 to 21 each carries 4 marks. Answer these questions
approximately in 120 words each.

Question number 22 to 26 each carries 5 marks. Answer these questions
approximately in 150 words each.

Draw neat and labelled diagram wherever necessatry.
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[318]

e faded gedx fARav | (1x5=5)

(i)

(i)

(iv)

(v)

feh aRaR g1 wRfdha @ wdd &
(31) forarer

(@) ST

() SUHRT

(8) SUJad H A |V W T |

Ife Bl oma fRy w® axg &1 70l &1 B A= Myt @ AT W SMed 8l
an:

@) ®MHd geq T B

(8) T TS R |

(@) omafit goT @i &

(@) S9gad d=i & 9 B ©

@) fassa | wifaan

(%) et

WRER &1 goie fhaer o e 8?2

(31) oA AT B

@) AT il @t

(%) g~ <3t Td AT Wil <l BT

() dr<fad Al gd Ul a1

TSI & WA 3FRBT I Ui Afdd 3, AR @1 Jotar | fba=r om ifds
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Select the correct Alternative:
(i)  Purchase of a cycle by a household is:
(@) Investment
(b)  Production
(c) Consumption
(d)  None of the above
(ii) It at the given price to a commodity its quantity demanded is greater than its quantity
supplied then:
(a) Price starts rising
(b) Demand starts falling
(c)  Supply starts rising
(d)  All of the above happen
(i)  Revenue is the same as..
(a) Profits
(b) Tax
(c) Sales receipts
(d)  Total profits
(iv) A government budget is a statement of:
(a) Expected expenditures,
(b)  Expected receipts
(c) Both expected expenditures and receipts
(d)  Actual expenditures and receipt

(v) In 1950 — 51, per capita income of USA as compared to India was more than:

(@) 30times
(b) 25times
(c) 09 times
(d)y 03times
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g2 Rad = a1 gid s (1X5=5)

9.3

[318]

(i) Fraer A9 fvg F g anfdie Heer T 8 T8 U refegaver Bl § |
(i) SOTEH FHAT TRART H AT HATE TWRITUT B 3R B8 TG H oo

............................................ 3 /T il B |
(iv) BT H FH S BRO ART § GG BT AT BT o PEd T |
(v) 19 AT H gfg qaaq P TR BRI § Al §H YRS e PEd B |
Fill in the blanks:
() e, = Gross investment — depreciation.

(i)  The economy having no economic relations with rest of the world is a ...................
Economy.

(i)  The production units buys factor services from the households and in return make

.................................. payments.
(iv)  When demand rises due to a fall in price, itiscalled ...............ccoiiiiinnn. of demand.
(v)  When supply of a commodity rises at the same price, itiscalled .................. supply.
Y /AT ddlgy  — (1X5=5)

() TRC IR WA Ue AT Wi ®U F AN I AIIBARIT Dbl Fe Bl
e |
(i) R ATHS ToNHE BT B |

(i) fea® offps 3vd g§RT W Udhd fhd S |
(iv) difeTdT o1 e Acia R Al sFT a1y |

(v) AIe 3regaet 3ref Sgavell @ bl Ud SHIS BT egu ¢ |
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[318]

State True/False:

(i)  Goods and services satisfy the wants of the people directly or indirectly.

(i)  Statistical data are qualitative data.
(iii) Secondary data are collected by the investigator himself.
(iv)  The title of a table should be brief and to the point.

(v)  Macro economic studies relate to a small part of the economy.

REASISRIEEIMS
S) @)
(i) 3fepeT B faveror (@) o
(i) Sffdsr &1 fda= (@) UfT IR ITEH
(i) SHEA & ARM (M) 3irad, ageTd, ATeHT

(iv) SUTeH @ 9T | g8 Ui & (1) repul de ugeaAr
(v) 9 D IAEHAT () =M, 9@, doi

Match the columns:

X B’
(i)  Analysis (a) Revenue

(ii)  Interpretation (b)  Production Per hectare
(i)  The factors of production (c) Mean, mode, median

(iv) Is received from the sale of production. (d) Arriving at conclusions

(v)  Productivity of land (e) Labour, land, capital

Page 5 of 12
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[318]

(i) UTAIfeS & BT P R GCh (o1 |

(iv) SEET g9fg &%, O ) R iR &=l g | (8 /12)

(v)  STIIT @ Aol W ged A ST BT g9 "gedl / dedT T |

Answer in one word/sentence.

(i)  The sum of total fixed cost and total variable cost is equal to .................
(i)  Example of Urea fertilizeris .................c......

(iii)  Write a main constituent of the primary sector.

(iv) Rate of growth of population depends on the birth rate. (Yes/ No)

(v) Fastincrease in population increases/ decreases the density of population.

TRATT fTTdRAT Bl G ThRIHD (IS ST |

Give two negative features of Indian Economy.

312ra1 / OR
fEReIT & AARHAl H Wglyg fhd UBR 8 Hadl g0 (Q1 )

How can resources grow in an economy? (Two points)

i # HiR®! B faeIHhdr 9arg | (T [6wg)

State the need of Statistics in economics. (One point )

3eqd1 / OR
Hera # AiRega! & favy &= &1 faavor |
Outline the scope of Statistics.
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IATEH BT Jod' BT IR qHgY | 2)

Explain the concept of ‘Value of output’.

31dr / OR

FASSY 6 I M & SIFAFI BT IUIRT I DI ST & Silad &R & qN A
el a@ uga # f5d geR far S 2

Explain how the national income data can be useful in drawing conclusions about the standard

of living and level of investment in a country.
wafe refeme @ 87 (2)

What is macro economics?

31erar / OR
Ffte srefeme @ vy — a%g 1 2°

How are micro economic theories constructed?

N AP TR U9Ta ST dTel BRDI BT AETHIOT BINTY | (B1S TH) ()

Explain the various factors which affects industrial growth. (any one)

312ra1 / OR
R JIUTT ¥ 319 T FHSTA &7

What do you understand by dependency ratio?

afdes THRr o YT B 87 <19 HIRUT Feg | I | (3)

How do economic problems arise? Give three reasons in short.

3e0d1 / OR
fafer amffe Ifafafed & sraviay & |Hssy | (9 9w)
Explain the interrelationship between economic processes. (Three point)
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I faaRoT faf I I 3 & Tt | T AUt asad 7

What are the main precautions required to be taken in estimating national income?

37141 / OR
&g Al & IR g & ST & I AU FT 8?

What are the main steps in the expenditure method of estimating national income?

“IMTH TTeq B IRAT B | I8 oW A b UapR g 87

Explain the term “revenue”. How is it different from profit?

317q1 / OR
= arferept got av—
Complete the following table:
IATGH (output) | DA (Price) TR AR MR
SHISAT (units ) %. (Rs.) . (Rs.) . (Rs.) . (Rs.)
1 5
2 4
3 3
4 2

IRA ¥ e AT &1 T rAwaldrsil &1 |etd § qouie o |
Give an account of major failures of economic planning in India.

a1/ OR

A 1991 BT 3w N § g g9 aqarg foaRkay |

State the main changes in economic policy in 1991.

Page 8 of 12
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u.15 gl s @1 Bl 87 WIRd # §7eb dIF UgE Gidl Bl auie HRY |

U.16

.17

[318]

What is secondary data? Describe its three sources in India.

SAAdT

OR

ey fewoft forRay: “sram™ ot JmgRy g1 R (ST ) |

Write short note on:"frequency distribution with unequal classes”. (Give an Example)

Tug e T 27 Weu § g9e Afid yeR 9Hssy |

What is a bar chart? Explain briefly its various types.

SAAdT

OR

39 3Thsi BT YIANT B Udh diel TR &7 5 99180 —

BIIel BT Scared (. <)

SRIES] 77.22 78.17 88.42 99.80 103.50
qg 1998 — 99 | 1999 — 00 | 2000 — 01 | 2001 — 02 | 2002 — 03
Draw a time series line graph on the basis of following data.
Production of Coal (M. T.)
Production | 77.22 78.17 88.42 99.80 103.50
Year 1998-99 1999-00 2000-01 2001-02 2002-03

sifom =g & fafe yoR 9ary | dag # 9o e AusEy | (@18 IR f{g)

Name different final expenditure. Explain briefly their meaning.

SAAdT

OR

el <o & IR ™ B FAMT & IR IUINT I |

Explain any four uses of national income estimates of a country.
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RIS AT Rp YgrRIl H 9E Y | GAD & aI—al el AT S | (4)
Distinguish between substitute goods and complementary goods. Give two examples of each.

31041/ OR
el ag @1 Sgfc B gaIfad H Tl HRDT BT HeY H IR BN |

Explain briefly the various factors which influence the supply of a commodity.

JMTSTET & AT MRA @ fegaRell & R o | (P18 IR f3wg) (4)

Give a brief account of the state of the Indian economy at the time of independence.

(Any four point)
3e0d1 / OR
A 1991 & MMfF HAdhe & HRUT ey # o1y |

Briefly state the factors that caused the Economic crisis of 1991.

IR H PV IATEHAT BT g & oy fhy T Iu 9arsy | (P18 IR) (4)
Explain the measures taken to raise agricultural productivity in India. (Any four)
3e0d1 / OR

faeprerelia <ol H Sl STl gfg TR Bl YT AR AT FEREl IR 9T Y9
qgdr 87

Explain the effects of high growth rate of population in developing countries on human and

natural resources.

qRA # ATGoId &3 & STHl & A R FHR 87 4)

What are the problems faced by public sector enterprises in India. (Any four)

31dr / OR

o o

"Il O TR AR B Sl ghg W BT A DR § |7 RIT T A FSHd 50

U IR b FHT H BRI a8V |

“High birth rate is the root cause of high growth rate of population”. Give reasons to explain

the above statement. Support your answers with example.
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e far wd onfdfe Hgfg H @13 IR R qarsy| @ e wafg & fde,
e faerT wwrg 87 ()

State any four differences between Economic growth and Economic development.

Is Economic Development possible without Economic Growth?

a1/ OR

3 fadmra @ ufshar @ geh fefegeRen 3 a7gWd 8M dTel YRda garsy | (@rs Uid)

Explain the changes experienced in an economy in the process of economic development.
(Any five)

BT 3T /A FT 2?7 yued fafdr g1 sisiofiag sfihsl & SMgiky dea & Ard
& i B A Ty | (6)

What is arithmetic mean? Explain the method of calculating in case of ungrouped frequency

data by direct method.

31e1dT1 / OR
foelY wem & 60 faenfeial & urdie ¥ 1 X2 2| 390 AT BT AU, e fafdy
GRT X |

i H 3fd (100 H W) : 20, 30, 40, 50, 60, 70

BT BT G : 8 12, 20, 10, 6, 4

Following are the marks obtained by 60 students of a class. Calculate the arithmetic mean by
indirect method.
Marks in Economics (out of 100) : 20, 30, 40, 50, 60, 70

No of students 1 8,12,20,10,6, 4
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AT AN’ AT H AR B | U 3qleXUT gIXI &‘Hdﬁ\l TUET BRA D1 A

Y | ()
Explain the term ‘marginal cost’. Show with the help of an example how is it calculated.

31qr / OR
fte AR H YYa] ST ad ol araiel &l ARAT IS |
Explain the term’ maximum profit’ as used in micro economics.

gorer Hif &1 3ref g 8iR STl & ARAT N | (5)

Explain the meaning and objectives of budgetary policy.

31dr / OR

qaT & YhR ALY | (Bl UT)
Explain the types of money. (Any Five)
AR 3Rfagaarey H SN & Ag@ WK DI | ($1F i) (5)

Explain the importance of industries in Indian economy. (Any Five)

31dr / OR

AP g oI & IR W 9RA Bl STHARA GRAAT DI [Ad==T ST | $HD FT gRomH
BNI?
State the age and sex composition of India’s population. What are its implications?
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fowg : e sregg (@rforsy)
Subject: Business Studies (COMMERCE)

FHI 1 03 T quIid : 100
Time: 03 Hours Maximum Marks: 100
fader —

(i) I8 597 g7 g @vsl d [QuiforT & @vs o dor @vs §'/
(i) GUS 3 & T go7 Jf7ard & T 77 F 6 & 21 TF H ARG [AHey a3
T4 &/
(iii) @vs ‘g F g7 7o 77 73 & forgd & et ff v geT & @i gw @
gfaarf &/
Instructions -

(i) This Question Paper is divided into two sections — Section A and Section — B.

(ii)  All Questions are compulsory in section — A and Internal choice is given from Q
No 6 to Q. No 21.

(iii) In section — B — four Questions are given, candidates are required to give all the
answers of one question attempted.

grg — I
SECTION-A
g1 Raa W= a1 gfid S |
Fill in the blanks —
LE =2 512 BN A far g1 (1)
BUSINESS IS @ 1 oneiinieie i activity.
TS L & gfawet g1 (1)
Profitis the reward Of ...
(8)  TTUIRD TP oo T UG Ael dxdl g1 (1)
Commercial Banks do NOt Provide ...........ooeiviniiiiiiii e loan.
(4) dIOTRTE §F T FRRTT B DI oo BT IaART Bl =1 (1)
Commercial Banks are those instillations’ which deal in ......................... .
O IR EEC I ;5 1551 1 B 2 gt 21 (1)
Management is an inbOrN and ....... ... ability.

[319] Page 1 of 12 (720)
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[319]

A T 3 H IR SIS |

Answer the following in True / False

(1)

amfdfe fopamell o1 \w=er qg1 & 981 B |

The economic activities are not related with money.

SRR # Uofl 31 maegaar gl 2 |
Capital is required in employment.
YaTEeR e F8 TR & B 2 |

There are many kinds of preference shares.

o, seara &1 sifvart a2 |

Finance is an essential element of business.
I TP a2 |

Insurance is not a contract.

T e /g H IR G |

Write answer in one word/sentence —

(1)

gg=] & fhad wR 27

How many levels of management are there?

Ug=] bl TSI HII T 27

What is the first function of management?

qeIdhTel- =0T fobd= Iuf & ford BT 27

Years medium term loan is for how many years?

gaifdreR 37 o2 |Har el d 98l I Fahdll © FIT heak] o7

What are Preference shares which can be converted in equity shares called?

Page 2 of 12

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(720)



U4 W8 SR gAax fRay |

[319]

Select the correct answer of the following —

(1)

(@)

ATTATRIS AT &1 TR 2 |
(a) 3BTl foT

(b) HHBTA fod
(c) i@ fo
d) SURIEd

Type of business finance is —
(@) Short term finance

(b)  Medium term finance
(c) Long term finance

(d) All of these

oo &1 B TE 7 |
(a) fa=ma=

(b) uRdEd

(c) U=

(d) SAFAUROT

Not a function of Marketing —
(a) Advertising

(b)  Transportation

(c) Storing

(d)  Motivation

Page 3 of 12
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(c) U ol

(d) SWEd H q DS e
Quality of a better “Brand” is —
(a) Suggestive

(b) Expensive

(c)  Similar

(d)  None of these

oo fysror &7 99 § —

d) SURIET T

Factor of marketing mix is —
(a) Product

(b) Price

(c) Promotional

(d)  All of these
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[319]

el Sifsai g8y —

i) e g
iiiy ¥ faeRoT
iv) CEIEE!

Match the columns —
i) Branding
i)  Production activities
i)  Physical distribution
iv)  Advertising

(a) uRgET

b) faspa Haga
(c) d& B UgHM
(d) fagore fasror

Transportation

Identification of product

(a)

(b) Sales promotion
(c)

(d) Marketing mix

SifaeT | /a7 39 872

What do you mean by career?
31741 / OR

TRIGATR fhd hed 27

What is self — employment?
TRISHIR & PIs ol & qa1gd |

Write any two scope of self employment.

31791 / OR
TRIGR & &1 #gcd g8y |
Write any two importance of self employment.
I Toft & <1 S qarsy |
Write any two resources of fixed capital.

31791 / OR
P (ol & < e a8 |
Write any two resources of working capital.
AT BT IRATRT BT |
Define business.

31791 / OR
e B R BT |
Define profession
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AT I I faewdant forRau |

Write three characteristics of business
31041 / OR
“SIRIT"” AT BT Udh Jf~ard 3T 2?7 FASNEY |

“Risk” is an essential part of business. Explain.
ATATIS SIRIA & HRON & A g8y | (B

o

NIE)

Name the causes of business risk. (any three)

312141 / OR
T D I SE-NECIERNE
Explain three objectives of business.
SENT & fblséc A4 UBR ERIERE
Write any three types of Industry.
312141 / OR
AR & YHR qargd |
Write the classification of Trade.
<3 IR 19 I R # ) a8y |
Write the difference between Home Trade and Foreign Trade.
312141 / OR
MUR Dbl Hecd ddigd |
Write the Importance of trade.
ofip AT BT PIs IR fALTAG I8y |
Explain any four characteristics of wholesales.
312141 / OR

oflds ATIANI T4 Hedh) AR H R 918 |
Differentiate between wholesalers and retailers.
Ueel & U@ B qarsy |

Write the main functions of management.
31e1d1 / OR

Je¢g hl Hedd ddigd |

Explain the importance of management.
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IS & Dlg IR odeTo7 foRay |

Write any four characteristics of planning.

312141 / OR
e ufhar &1 qarsy |
Explain the process of Organisation.
ARG I BT Hgcd IaTgd |
Explain the importance of business finance.
31741 / OR

FAAT 3797 IR YAlfIdR e § 3R W By |

Explain the difference between equity shares & preference shares.

9% & UgE BRI BT qU B |

Describe the main functions of Bank.

31141 / OR
HUSRY $T Agd I3 |
State the Importance of warehouse.
g9 UfhaT &1 THISY |
Explain the selection process.

31791 / OR
Feft Ud a3 # oraR 9adrgy |
Distinguish between recruitment and selection.
FOTAAT B fIRTd qarsy |
State the features of Debentures.

312141 / OR

AT o 1 8?7 gHa oMl I Id1gd |

What is retained earnings? Discuss its merits.

fQUoe & 98Ed d B a5y |

Explain the subsidiary functions of marketing.
31141 / OR

o= & oy 918y |

Write the advantages of Advertisement.
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g — §
SECTION-B
g22 I. (1) Rad = & gfd @i | (1)

Fill in the blanks —

.................................................................. §RT U3l B Al A Tl S Al 77

The letter are easily searched by ..., .
() TP wE ¥ IR RN (1)

Answer the following in one word.

9 QIR &1 98 9d18Y, STef UFl & Iad Siidd bT bR fhar ST 2 |

State the name of the department from where the process of Inward and outward

of the letters is done.

(3) w8 IR AU | (1)
Select the correct Answer —
BT @1 MaeIHaT Bl & —
(@) UAI B GRET B o
(b) AT fETT & fory
c) =Y & ford
(d) SURIFd FH

Need of filing is —

(a) For security of letters
(b) For planning

(c) Forreferencing

(d) All of these
[319] Page 8 of 12 (720)
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®HIaTerg fod wed 27

What do you mean by office?

STIHHMTST BT 372 IaTSy |

Give the meaning of Indexing.

BT BT Hgcd gdTgd |

Explain the Importance of office.

IITHAMIRT & Iqal Bl TS |

Describe the importance or objectives of Indexing.

! BT YUTTell & Urd ol adisy |

Describe any five advantages of vertical filing system.
(1) <& fdweu gAY |

Select the correct Answer —

9% T B T8 B —

(a) TR BT AR

(b) G&T BT BRI

(c) ARg gfaer

(@) e gfaer

It is not a function of Bank —
(@) Marketing of goods
(b)  Transfer of money

(c) Credit facility

(d) Facility of overdraft
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(2) Rad wIHl @1 gid BT | (1)
Fill in the blanks —
9% gRT SER BT B AT B oo USRI FHRIAT ST & |

...................................................... is provided by Bank for credit purchase.

Answer the following in one word.

VAT &5 STl 24 HIC WUy fAhTe ! Jaer &l ¢ |

Name the centre from where money can be withdrawn 24 hours.

dPb & PIS < YR Id8Y |

Write any two types of Bank.

Jfofasy =T 87

What is overdraft?

qIfoT 9 & oY Id18 |

Explain the advantages of commercial Bank
9% o Torl ARl 9ag qadrsy |

Explain the agency services of Bank.

ATe] W1 9 99d @I H JAAR qarsy |

Write the difference between current account and savings Account.
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g24 1. (1) Raa wm= & gif S| (1)

Fill in the blanks —

Development of Indian Industries becames possible due to ...........c..cooeveiiinits

2) I/ H IR IR | (1)

Answer the following in True/ False

ST Uh HRET ¢ |
Extraction is a factory.
(3) UP e H IR AR (1)

Answer the following in one word.

S¥D BT ST YA fbar Srdr & SH F1 Hed o7

The amount which is paid to Labour is called?

Il.  PRE B ded &7 2)

What is factory?

Il. PREF BT By & GRYaK Jarsy | 2)

Give any two characteristics of factory.
V. BHRE YUTell & YR o 9argd | (4)

Explain the main elements of factory system.

V. SREME AP 8] @R W= YIge™ qaigy | (4)

What are the regulations for the health of factory workers?
VI, SR H GRET & AR S 9aigy | (5)

What are the compulsory measures for the safety in factory?
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(1) Rad wmEl @1 gfid S |

Fill in the blanks —

£ B F3 =22 4 s 2R e o e 2 22

The channel between two partiesis called ... i,

(2) I/ H IR <IN |

Answer the following in True/ False

Brs ) aafed faiedr 8 Gadr 2 |
Any person may be an employer.
3) TP g H IR QNI

Write answer in one word.

Tolee U9 G (TTadT) & el BT MR 2 |

The main element of relations between agent and employer is.

“PIRIR AT F T NI 27

What is meant by courier services?

fagmos Tor=r fhd ded &7

What is advertising Agency?

TorAl &7 A qaTsy |

Explain the importance of Agency

UfhTT Yol & i ad1gd |

Explain the functions of Packing Agency.
Tole 3R AldR ¥ 3faR garsy |

Write the difference between agent and servant.
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320
Qug : o
Subject: ACCOUNTANCY
T : 03 UL quifes : 100

Time: 03 Hours Maximum Marks: 100

faeer —
(i) I8 737 97 7T @vsl 7 [341forT & @vs 3 7T Gv8 T’/
(i) @US—3 & TH Fo7 a1 & T FIT F 6 H 23 TF H IHaARF [AHq 77
T &/
(i) TGvs § 7 g 797 % 13 & forwd & e ff v goT & aHf oav @
sfaard &1
Instructions -

(i) This Question Paper is divided in to two sections- Section A and Section B.
(ii)  All Questions are compulsory in section-A and Internal choice is given from Q. No

6to Q. No 23

(iiij)  In section-B, two Questions are given, candidates are required to attempt only one

Question.
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Yvs—3 /SECTION-A

R et o1 gt By |

Fill in the blanks:-

() UR & WH gRT ST &9 ATYR H AT STTAT B B Fed gl (1)
The amount that has been invested by the proprietor in the business is called............

)T Eas RS E LEEST=A1 £ [ (1)
ASSEtS = LIabilitIeSs + .oveeiee e

0D TR I 2 k= R AR T BT 3Maead 2 1 (1)
Every debit has COrrespONaINg .........ouueiieiei e

(iv) UST WA TTATT B TN Bl o 21 (1)
Capital ACCOUNT.... ..o of owner of the business

V) TR TRIRETT a8 F B o T (1)
Contra entries are MadE IN.......o.iiiii e book.

T /3T B SN SIoTg—

Answer the following in True / False:-

(1)
@)
()
@)
5)

AGIH dhad [ 8, Hal Tal | (1)
Accounting is only science, not an art.

AGB- Had AR & ford & STArfy 2 | (1)
Accounting is useful only for businessman.

AT S ORIy Ieewd & ol 99/ T AT &, R WA dEardl B | (1)
Reserve which is created for any specific purpose is called general reserve.

AT UeT Y R | (1)
Wages are direct expense.

ggd FUT AR T I & | (1)

Bad Debts is an expense of business.

T 9eq /a1 H IR SITq—

Answer the following in one Word /Sentences:-

(1)
2)
()
@)

TR UdeT i B o @ # forar Sar 87 (1)
In which account the all direct expenses are charged?

e fHd @ | | fBar Siar 2? (1)
Net profit can by calculated by which account?

R Re emsil &1 e & 31 F7 87 (1)
The major source of Income of non trading concern is?

M g WTaT fhd @A & FERIdaT | G971 S © | (1)

By which account’s help the income and expenditure account is prepared.
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|l fdmer gig—

Select the correct Answer:-

() YIRRR o @ 3ME H Ioit ) = f3ar Srar &—

() 6%P.A
(i) 10%

i) 12%
(v) SWRIGd § I IS A8l

In absence of partnership deed Interest on capital is provided-

() 6%P.A
(i) 10%

() <TEIERT &1 GOl 8—

() erfrard
(i) 3fra: 3rfrary

(i) 12%
(iv)  None of the above

iy ufBD

(v) SETaYD

Registration of partnership is-

(i)  Compulsory

(iii)  Partly compulsory

(Ill)  3MTERTT TR ITT B—
@) wH @ BN
([) ®H DT A
Interest on drawing is-

(i)  Loss of firm
(iii)  Income of firm

(i)  Optional
(iv) Unnecessary

(@) SRR & 3T
(@) SWEad # J BIg T8l

(i)  Income of partners
(iv)  None of the above

(IV) VTSGR &7 BH H T Bl 8—

@n w@r 3R Ja®w

() Ygdgd &l

@ aH BI
(@) UBIMTBRI BT

The relationship of partners with the firm-

(i)  As owner and agent

(i)  As manager

T8I Sifedl grsd—

(1)
() fo gon
(i) T A s
(iii)  3fferepe Yoit
(iv) 3ffcT sffe™
Match the correct pair:-
(A)

i)  Reserved capital

i) Authorised capital
iv)  Over subscription

i)  Memorandum of Association

(i)  As servant
(iv)  As monopolist

C)
(@) DY DI IR
(b) RS ol
(c) 3rJurfdes 3fec
(d) B BT FHUA
(B)
a) Base of company

)

b) Registered capital
) Proportional Allotment
)

winding up of company
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U6 dEREml BT aref qrarsd | )

Write the meaning of Book Keeping.

Y91/ OR
yfafte | a1 ey &7
What is meant by Entry?
U7 douc g9 & foel ar faftl & M qarsy | 2)
Give the name of any two methods of preparing Trial Balance.
Idq1/OR
qaIe I T I &7
What is mean by Trial Balance?
U8 9% A fdaRer ux & & o™ qargy | 2)
Write two advantages of Bank Reconciliation Statement.
31dr/OR

9% T fJaRor B g9Tar 27
Who prepares the Bank Reconciliation Statement?
U9 Sexd @l fhd FHEd 82 2)
What is Suspense Account?
Y91/ OR
fg—velia srerfaal 9 a1 ome &7
What is meant by double sided errors?
9.10 3ifcH B | 7 MY &7 2)
What is meant by Closing stock?
31dr/OR
gy 9 fhd wEd 27

What is direct expense?

U141 AMUR & f FRRT 350,003 & 3R &R 1,30,001 & 2| Yol &I IbH =
HIRTY | )

Total Assets of business are ¥3,50,000 and creditors are ¥ 1,30,000. Find out the amount of

capital.
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312rar / OR
=1 et | Rl @1 T @Y U BT |

Ll 4,00,000

FaR 1,20,000

9% ey 80,000

Calculate the amount of Assets from the following information’s.

Capital 4, 00,000

Creditors 1, 20,000

Bank overdraft 80,000

SIEXT AT YUTell & <9 o™ gaTgy |

Explain any three advantages of Double Entry System.
3Aq1 /OR

QT oIl YOTTell &l o9 AT &l 918y |

State any three limitations of Double Entry System

doUe WR Y91 7 Sl dTell IMfgdl Bl qarsy |

Explain the errors which will not affect the agreement of the trial balance.
3141/ OR

T B W AT 7, e BRUT derue 781 ferdn 272

What are those errors on account of which trial balance does not tally?

fFeferRad 2Ivl | 31 fAAwR 2016 BT ST &I Y& H dauc d1gd |

Bl 40000

faspa 65000
IEEILE 15000
gr. Efaar 15000
BT 24000
TR 6000
TIER 9500
Pl 25000
ERRGIERS] 500
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From the following balances prepare a trial balance on 31st December 2016 in the books of

Ajay.

Purchases 40000
Sales 65000
Advertisement 15000
Opening Stock 15000
Furniture 24000
Debtors 6000
Creditors 9500
Capital 25000
Purchase returns 500

AU /OR
g6 T fAaReT B SR dl FHSISY |

Explain the necessity of Bank Reconciliation Statement.

forgr 9 dede § SR Farsy | (4)
State the difference between Trial Balance and Balance Sheet.
3141/ OR
faforRad @t & 31 A/ 2017 ®T ATUR WAT 973 |
g1, Ieforan 50,000
fasea 3,00,000
) 1,00,000
ESER) 10,000
siferd gfera 50,000
hY YR HIsl 10,000

From the following information, prepare Trading Account for the year ending 31% march 2017.

Opening Stock 50,000
Sales 3,00,000
Purchases 1,00,000
Wages 10,000
Closing stock 50,000
Carriage inwards 10,000
Page 6 of 12 (650)



¥.16 ARGR Helkd & M H AN 8 arel 9w a8y | (@15 9R) (4)

Write the rules applicable in absence of partnership deed. (any four)

31dr/OR
FTA3:2: 1 AU H AW fIGRT BRI 8 | 9 DI 4,200 I AT A DI HA

fash! S 1,20,000 &, S WR 3% HHIEA Qa1 SIar © | a9 2017 H ™ 12,000 AT | o™
HiEBERISEREISIERIERE

ABC are partners sharing profit & loss in the ratio of 3: 2:1. B is allowed a salary of 4,200 and
C gets commission @ 3% on sales, which is amounted to ¥ 1,20,000. In the year 2017 firm
earned profit of 12,000. Prepare profit & loss appropriation account.

U147 x 3R y AEIGR 2| 31 A9 2017 Bl IS 5T FFaR & (4)
SR T T Rt

TER 3000 | #elE 1200
Pl EEIEN 400
TheT 2650
X 3250 TAER 3780
y 2000 5250 | JHS 220
8250 8250

1 Y 2017 DI 9 z DI IRER B AEER H G99 <d 8| 9 Ja@R R AR

AHcATdh BT |

(1) | BT oI 950 T 3fTebT AT
(2) WHTeR BT Yeu 380 T B AT
(3) T BT A 450 T W ISR 9 | JTHAIBA ST d9183 |

x and y are partners, on 31® march 2017 their Balance sheet is as under.

Liabilities Amount 3 Assets Amount %
Creditors 3000 | Machine 1200
Capital Furniture 400

x 3250 Stock 2650
y 2000 Debtors 3780
5250 | Cash 220
8250 8250

On 1 April 2017 they agree to give admission to Z in equal partnership, on the following terms.

(1)  Machinery is valued at I 950
(2)  Furniture is valued at I 380
(3) Value of stock is increased by X 450. Prepare Revaluation A/c

[320]
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312041/ OR
ATeIeRl & fqge iR AREN ¥ & fdeacd # far 918y |
State the difference between dissolution of partnership and partnership firm.
gaifirer i @ fadwarg aasd | (@ =) @)
Give the characteristics of preference shares (any four)

3Ydar/OR
YRa fafics 7 10 T drel 15000 3% SRI fhy| 59 =g § 2 T Eed WY,
4 Z3M§ed W T 4 % YoF g Iifam IraeT R Qg g | 99 IRl e wHa Ut @
TS | HHAT B gDl H Tdhel Ufaficdl ST |
Bharat limited issued 15,000 equity shares @ X 10 each. The amount of share payable as I 2

on application, ¥4 on allotment and ¥4 on first & final call. All amounts have been duly
received. Give journal entries in the books of company.

U BT T U AF 3T A 4,50,000 H HI (HAT| I oI & YA WY 100 3
el 1% RO T R T 63| S @ gael § Adedsl yfafted
AR | @)

A company has purchased a machinery of ¥ 4,50,000 from Atul and Issued 11% debentures

of ¥100 each for the payment of machinery. Give necessary journal Entries in company’s
book.

3Idr/OR

3fer 3R oI # IR gAY |
Give the difference between Shares and Debentures.
fereiferiad sgagRi & forg uofl ufafte i | ()
Pass the journal entries from the following transactions.
(1) ¥Hal ¥ FUR YRS AT 6000 T

Started business with cash ¥ 6000
(2) rffd & ATl WRIGT 2000 3

Goods purchased from Amit ¥ 2000
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3) 9% # ST fHT 4000 3

Deposited into Bank ¥ 4000
(4) IR WRIAT 1200

Purchased furniture I 1200
(5) T AT &= 1800

Goods sold for cash ¥ 1800

3491/ OR

Aheds! d Wdde! | AR qadrsy |

Write the difference between journal & Ledger.

.21 1 SIFa™T 2017 BT A9 Fold BT YRS AT 8000 TAT| 31 W 2017 &I FATT BH

arel 9§ § RIS 9ER gY | ()
3
() @IS a¥ HT F=_T UTAd 35000
(i) ST a8 & =rwaT 31U e 1000
(i) TSI FERIAT Yoob 6000
(v) fafeanT fear 25000
(v) WeieR WRIET 3000
(vi) ol AT @RIEl 3000
(vii) AT Y Ry 5500

UG URIEIRCIRIICEIER N

The opening cash balance as on 1 Jan 2017 of Naveen Club was ¥ 8000. Purpare receipts
and payments account for the year ended on 31 Dec.2017 from the following transactions.

3
(i)  Subscription received for current year 35000
(i)  Subscription received for next year in advance 1000
(iii)  Life membership fee 6000
(iv) Investment made 25000
(v)  Furniture purchased 3000
(vi) Sports material purchased 3000
(vii) General expenses paid 5500
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31erd1 / OR
T YA ST U A1 o0 WTd | AR DIToTg |

Distinguish between receipts and payments account and Income & Expenditure account.

U422 3 3R § 32 @ AU H @M B dled @ 9 31 AR 2016 H IGA™T & FHU
&1 ol o & 99 9 &1 gt Fergar - (5)
SIbRC) RUETR AT RUEIR
TR 44,000 | 7l 50,000
goil SSIED 30,000
A 55000 qaR 39,000
B 36000 91,000 | JHS 16,000
1,35,000 1,35,000
3" W B 40000 T H oY B el B MAT| IAGRI A 31500 Il U fd
23000 I H fI®T | oFGRI BT Bt 42000 T IBR FI fhar 77| fages =g 1500 I BY |
G IREIRIICE IR
A & B are partner sharing profit & loss in the ratio of 3:2. They agreed to dissolve their
partnership on 31st December 2016. The balance sheet of the firm as on that date is-
Liabilities Amount 3 Assets Amount X
Creditors 44000 | Machine 50,000
Capital Stock 30,000
A 55000 Debtors 39,000
B 36000 91000 | Cash 16000
135000 135000
“A” agreed to take over machinery at an agreed value of 40000. A sum of 31500 could be
realised from debtors and stock was sold for 23000. The creditors were satisfied by payment
of ¥ 42000. Expenses of dissolution amounted to, I 1500. Prepare Realisation A/c
[320] Page 10 of 12 (650)
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312041/ OR
T WEER & JHR qary |
Explain the rights of new partner.
FOTUHT B AT R BT R IS BIAT B
What are the objectives of issuing Debentures?

3Iar/OR
FOF] B faRyan 9drgy |
Write the characteristics of Debentures.

Yvs—9 / SECTION-B
() Raa = a1 gid siivme—
Fill in the blanks:-

() o9 T A B AN = Yg fAsha—
Cost of goods sold = Net sales&

(i) I/ H IR LIfu—
Answer the following in True / False

ITe], U FGARI B TR DI AT BRA 2 |

Current Ratio measures the liquidity.

(i) TP I /ATF H IR SIoT0—
Answer in one word/ sentence-
evey fhd UHR B FHfRT 87
What type of asset is patent?

(I) TREAAT U DI FHASS |

Explain the liquidity Ratios.

() =T el | ST FHAT AU ST DHIfoTg—
From the following information calculate the Delt Equity Ratio-
39T Yl (share capital) 7,00,000

12% 9T U= (12% Debenture) 3,50,000
(IV) s Yarg fJarer Ud $IY garg fqavor # far qasd |
Explain the difference between cash flow statement and funds flow statement.
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(1)

(ii)

(i)

(I

(Il

A /AT H SR SIfoiu—

Answer the following in True / False:-

SURS = e AHUl +AFUT + 3 + Y (1)
Overhead = Indirect material + Material + Labour + Expenses
UH G /qTqT H IR QIoTg— (1)

Answer the following in one word / sentence-
I AT DI AT FF 27?

Which expanse is production wages?

Ra e a1 gfd sifsrg— (1)
Fill in the blanks-

L Joell, dedl AR ol M U IR AT & 9Rg H gRa
LY IUALT IR & |

A system proceeds immediate information regarding stock of raw material, semi
finished and finished goods.

ARTd oigih  T a2 | (3)
What do you mean by cost accounting?

ANTd Sl & DI IR Seed darsd | (4)
Explain any four objective of cost accounting.

7 faaRoTl | U IUTGA 3HhIg & ol ol ANTd @I 0T N | (5)
BT D T3 AN B AR 60,000

T BT RS ld 12,000

AT &1 S ih 8,000

HOTGNl T YT 6,000

Iared & v feve R off 18 w9 &1 fv™ar 10,000

Calculate prime cost from the following particulars for a production unit.

Cost of material purchased 60,000
Opening stock of material 12,000
Closing stock of material 8,000
Wages paid 6,000
Rent of hiring a special machine for production 10,000
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Subject: HOME SCIENCE
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[321]

(1)
(i)
(iii)

(iv)

(v)

(vi)

Note:-
(1)
(ii)
(iii)
(iv)
(v)
(vi)

%7 97 3 @S] § §¢7 &/ @IS I YT @S '/

GUS ' P FH FIT & BT 91T & T HHF 01 F 04 T JegiT0 Fo7
& I% F¥7 & FE FEP 3iF aicd &/

Fo7 HHIFH 05 @ 09 TF FAF Fo7 & forg 2 3w gaied & g &7 v
ST 30 Tt & &forg )

goT FHHIG 10 @ 15 TF J&AF 97 & [0 3 3% Jrafed & go+l & Sav
ST 50 Tt & &forg )

go7 HHIH 16 @ 18 dF FdP F97 & 70 4 3F IEiea &/ go & v
ST 75 Tt & AHforg )

Gue § H 7 dBlcqd YIT & #, G V9 T/ FTH G B VB §A B &/
JRF o7 & TG FAD 3F AT 8/

Question paper is divided into two parts: Part ‘A’ and Part ‘B’.

All questions in part ‘A’ are compulsory. Question No.1 to 04 are objective types.
Each question is allotted 5 marks.

Question No. 5 to 9 carry 02 marks each. Write the answer in approx 30 words
each.

Question No. 10 to 15 carry 03 marks each. Write the answer in approx 50 words
each.

Question No. 16 to 18 carry 04 marks each. Write the answer in approx 75 words
each.

Part ‘B’ consists of three electives A, B and C. Attempt any one of them. Marks are
given in front of each of them.
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Yvs — 3 PART-A
91 Bl IR G- (5X1=5)

Select the correct answer-

(i) 8 fasm= fawa

(1) wadt TsfHAl & ol ©

(@) @ad dsdl B fog ®

@) 7 dsdl & fog T oTsfeal & fog
(&) e ofsfpdl Al & forg

Home science is meant for
(@)  Only girls
(b)  Only boys
(c)  Neither boys nor girls

(d)  Both boys and girls
iy R =l & foy Sugad A T

Most suitable fabric for making baby garments is.........
(a) Silk

(b) Cotton

() Nylon

(d) Denim
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([) eI o
@) Rhofes wug

......... is eco friendly product.
(a) Paper bags
(b)  Petrol
() Thermocol glasses
(d)  Synthetic clothes
(v) B UwieR Afsordi d............... H AU 3R TR B |

@ Fred TR

@) - wfeE @& BUS
() orEaR
() dfeliei™ Yae

Green leafy vegetables should be wrapped in......... and stored.

(a) Brown paper
(b)  Moist muslin cloth
() Newspaper

(d) Polythene packet

[321] Page 3 of 8 (3210)



(v) ST B Jhol RR BT 39 THR TWH R AT A1 |
(@) e
@) @ IR
@) SR DI AR
(@) iy wY H

Egg should be stored with pointed ends.
(a) Straight
(b) Down words

() Upwards

(d) Angled
g2 Raa wmE @ gfd sl | (5%1=5)
) T oot a1fre fasTell @7 gud o ¢ |
(@) 19 3T AHT & 990 BIA & AT Moo P W g9 B TP © |
() T QT ST H TOTT BIR DGt T & 9gdr 7|
G T L3 TS qIYed dcd B 2 |
S ICTs: L2 L A % forg amawa® 2 |

Fill in the blanks:-
(@) More power is CoNSUMEd DY.......ouiiiiei e refrigerators.
(b)  When you save time you Can AlSO SAVE..........ouiuiiiiie i
(c)  During the first two years height and weight increase ata..................ccoeiiiiiins rate.
(o ) I I =T (== U= T major nutrients.
(€)  CalCium IS NECESSANY fOr ...ttt aee e
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(31) BRI B gRETT AR |
@) I dTe B aref forRav |
(d) uve I fod wed 87
(&) B g 7 e?

() ™o a4l aMawad 2?

Write the answer in one sentence:-

~—

(a) Define work Ethics.
(b)  What do you mean by space organisation.
(¢) What is food Nutrient’s?
(d)  What is artificial fiber?
(e) Why food is essential in our life?
HE SIIST g1 |
‘ar g
(@1) ImIRA () Uad TGP
C)NRENINEIS] (i) o
(@) arg S (ii) T
(%) @ (iv) TNIR® gqerma
(3) TS (v) a=Efa g
Match the columns:-
iAl ‘B!
(a) Iron (i)  Wind mill
(b) Adolescence (i) Cereal
(c) Wind Energy (i)  Anaemia
(d) Cotton (iv) Physical changes
(e) Agmark (v) Vegetable fibres
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WRIGR A Ped 87 I MR WRISHR 3T 27?

Define self-employment? What is home based self employment?

[T & oIy Iugad HUSl BT 9™ Ud 07 Jad1sy |

Name the fabric which is suitable for winter wear and its important properties.

ol AGHRNT 3R SFGHRNT T 3T T A9 22

What do you mean by renewable and non-renewable energy?
W B T i iy |

Write the main sources of protein.

wqfr SmER @ Revan iR |

Write the characteristics of balanced diet.

freTRTae &1 & dF GRS &I F938y |

Explain the three main problems of Adolescece.

WTeg URReoT & T Rigr 87

What are the principles of food preservation?

BRI BT FRABRYT FI AIID &7
Why is work simplification important?
AT BT R Heed o FHSSY |

What is the importance of saving? Explain in brief.

JITaROT IUBY BT g B foT¢ 3T B I TRID IARIT?

Which methods are used to protect environment degradation.

SIS Gl BT A HRA FHY DI b Al qrdl BT & IGAT A12Q2

What points are be kept in mind while selecting readymade garments?
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T.16 FATERIRGR T T 87 b o1eTo7 forfRay | (4)

What is kwashiorkor disease? Write the symptoms of kwashiorkor.

917 ol & IR RERF Sl & SYIANT & A 918y | (4)

State the advantages of using non conventional sources of energy.

.18 geTTs 5 FEd 87 s @ A= =R FHemsy | (4)

What is Laundering? Explain different steps of laundering.

Yvs — 9§ PART- B

d®fed® MIT — & ELECTIVE - A
T.19 HFaAfd A9 4T 87° (1)

What is Anthropometric measurements?
T.20 UHIHAAT & <1e7o1 forRau | (3)

Write the symptoms of anaemia.

¥.21 3T A UHR AU WR 9707 3?7 FHs | (3)

How will you control obesity? Explain in brief.

.22 3MER Heeh FeTo 91 87 ATeR Haell |qaeror o faferai & =4 foRag | (4)

What is dietary survey? Write the name of dietary survey methods.

T.23 99T e &1 gRYTST U T 9o Re—ueE BR" & i BRoT TR | (4)

Define Nutrition education and write three reasons for imparting nutrition education.

dhfedsd WRT — g ELECTIVE - B

9.19 e foa @ed 8? (1)
What is development?

720 WD & ALY a7y | (3)

Write the characteristics of play centre.
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U421 Wodh= H e & W SYHN & A foIlRay | 3)
Write the name of outdoor play equipments in play centre.

U422 HRIHH ol & RIGA 139 | (4)
State the principles of programme planning.

U.23 3MER BRIHH & oY A GAI 991 THI BIF—hbI Al d1di BT T IE]

EUEN 4)
What points are to be kept in mind while preparing the list for feeding programming?
dfeded |RT — T ELECTIVE - C

9.19 Rivse &1 qRTfea IS | (1)
Define syndet.

U.20 gars @ A= faffdl & 7 A qm 9 g #e a9l d gl & oy frawdd
fafr &7 AR (3)
Write the name of different methods for laundering and Explain the methods for washing
delicate and fine clothes.

921 gedl Bl aTebRoT BT | (3)
Write the classification of stains.

Y22 3N geN @ e fafay | (4)
Write down rules of removing stains.

¥.23 e &) faiwant fifaw | (4)
Write the characteristics of rayon.
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324
fawg : amgfafd = (Qgit~s)

Subject: SHORTHAND HINDI (PRINCIPLES)
FHI 1 03 T quIid : 100

Time: 03 Hours Maximum Marks: 100

fder — it yea aiffart €| vl & SR gara vd e 8| Ol A o 98f mygfery

P ITSTATST 91V |

| "ver 30 fAme quifes : 30
1 T S YRR H | Pl WIER A1l ¥ B 87 (1)
U2 F GBI A X@rsil S quiwuer A1l g9mEn SIar g7 (1)
U3 R $ HAd 9 Ugell @ 6 I W fordl St 27 (1)
U4 YA I, fgd WM doIl A R & Rl BT qETHR0T DI | (1)
U5 241 9 # qof fhas w@R B 27 (1)
96 e EAl B YA 6 UeR & W<l & forg fhar S 272 (1)
U7 RY H WR IAM & q18 AT G I B YANT fbar e 2? (1)
U8 HT W U BT YAN 7eg H AT fHAr S Ahar 57 (1)
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g9 fgwafe R fea eR & B 87 (1)

T.10 T TGS TH Ieq BT BT 87 (1)
U011 IifeH i@ 7 — o7 & AT 9 g 94 DI A F@&w g? )
Y12 arqRNe § fha S AT Bl ST B UR Th’ e BT ART BIaT 87 2)
Y13 araaie § 2 IR T BN Fha for@y # T 3R 27 2)

U144 I A X@ & IR H 9 g 8 o A §b A H (b RG 9171 Sl 27 (2)

9.15 fgqor &1 9T fb aRRerfcrdl # w81 fbar S wear? (4)

U146 ‘® R T IS B URMD §b DI g9 IR W [BA ST @1 BT AN BRT?

FeTex0T Afed forfRay | (4)

717 &g TTq wreal &1 et # forRay — (4)
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fSacer: 5 fiFe quifeh: 40

3Jars g SHU it 40 e

3egel Heled, Sl e AR AME YW1 TAT 8 I9H dgd A GURI Bl aIDhdT 8 | TP

3R AT 3w TId ¥ I8l AT Sl Fbal oT| § B Y& Hedl dedl & IR a8 I8 P

TE—STd IMATIHAT s Saiv VA AT DI WIHR fHar T <2 &1 Heamor &1 nfl

BT & § S AHSIAT g I AoIgy] $I 980 Is! HRAMI GHsT ARy, S I=id Bl | SH

I WeR fhar o Ie 9o Refd § 7 Wer 781 ard ofed by ot 91 &1

JMITTHAT g Al 7 B e 121 | AT 1 B fF o o aRg gAR A Qg Afe

fIaR—{IAeT BRa A1 SHA M ST | Blg KT A BB SD] G AT S FhaT o

3R 3reeT T el Aepal o7 | Heled, 9gd — ¥ 91 8 olibd Udh Use] WR R 8!

far ar S e IEar €| Uh % 99 B 2 f6 o g1 999 e @iy | 9|

Tl W 8| Ifhd deuaT I 9= ReIfy &7 98T 319 I8 ded © fb Mg & o =gl

HHT Adhd | § HIIAT SN B 91 HIAT a8 o |
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fSacer: 5 fme quries: 30
3JaTs Yd SHUT Iafer: 40 e

ERY HATTY

HHIH — T — 1 ,/2016—17 / 159 s feeen f8. 12/03 /17
gfd,
I B T 9T

A Afdd ud
T faqmTeTer
U — eR*RIT & 9fd STeddr A=

IRA A & gRT I8 Fofa foram am 2 6 <91 | e 0T & 9o @A & oy U
STRTeD T AT TATIT AT & dlfd & I I ofed H 9 & ANRG SIRed 8l b |

U, 3R, gHf
q& Aferd
YRA WRPR ERY HATeT

SERETS
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BRR Ahvsy TR, feawR — 2017
358
vy : @ e g9rE

Subject: FOOD PROCESSING

HAY : 02 TS quifes : 040
Time: 02 Hours Maximum Marks: 040
INSTRUCTIONS:

Tt o sifard &

.1

[358]

All questions are compulsory.

Reret vt &) qfef BifTT— ()
Fill in the blanks:-
(8) T FATIT T TGTAT DT oo g § Aeq el g
Food processing helps food items beCcome ............ueiiiiiiiiiiii e
(b) SR T{ £ £ @ fordl MmaeTs T |
Calcium IS €SSENTIAI O ....viiiiieie i e e e e e e e eeeeee e e eanes
O R S . A HISH Yl ¢ |
In pressure cooker food iS COOKEA DY ......coiuiiiiiiiiiiii e
(<) SHM oIdh GHH A A 5T BT 3 |
.......................................................................... shops purchase items from whole sellers.
Y I LR ) e 4 1 =SS
FUILTOIM OF P FL AL IS e e e e e e e e e e e enes
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U2

9.3

U4

9.5

9.6

[358]

SEESISICEIFSE

Match the following:-

(30)

() SAGROT (a)
Sprouting

(b) TAIRE (b)
Fluorine

() g&H UlNe T (c)
Micronutrients

(d) Trermad et (d)
Adulterated food

(e) SUBNUN BT YA (e)
Used of equipments

fetrae | eyt |HsTa 22

What do you mean by adulteration?

q& VIR o8 I —aIT 87

What are main trade marks?

ST & JATHR DI —HIF A &7

What are the righst of consumer?

fdem gfshar @ &7

What is decortication process?

Page 2 of 4

@)
I g Ifdd DI g9d

Save time & energy
Lol
Legumes

FARIRTT

Fluorosis

foerTq 9 @
Vitamin a minerals

Low quality

(90)

(5)

(2)

@

(2)



U7

.8

9.9

.10

.11

12

913

[358]

T AT R BN 27 @)

Why do we need food processing?

Tl AgNUT & BRI I~ H 52 )

What are the causes of good spoilage?

ufhar gR&be w87 (2)

What is process estimation?

TorEdT R & TR D —DIF W 87 2)

What are the levels of quality control?

qad fhd UpR Weo fhy M arfey? 2)

How should the utencils be cleaned

GTel TERET T &7 (2)

What is food Preservation?

el gerRf UHM ® qd b —de W ] 2 AW ford w9 fEE Q1 @

TR | (3)
What are the different Process used before cooking? Name them & explain any two?

a1/ OR

G- I} UhTd 2°

Why do we cook food?
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.14 SYYTGIT RAeT0T Bl qHSA?

What is consumer Education? Explain in brief?

31141 / OR

SUATFIT IRETOT SFfAIH BT AHSA?

Explain consumer forum?

T.15 IS &1 Ao § T 98d & 9 & I SId &1 —a7 87

What is the Importance of protein in our food. What are the sources of protein?

3Id1/OR

WISl b BT BT goi PIFT?

Describe the functions of food?

[358] Page 4 of 4
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605
oy : wers, s U9 gene fAHior

Subject: CUTTING, TAILORING AND DRESS MAKING

| 02 GUC quTies : 040
Time: 02 Hours Maximum Marks: 040
faeer—

Tt g7 Sifard &/
INSTRUCTIONS: -

All questions are compulsory.

g1 Rad = &1 gid siori— (5)
L SE £ OSSO, TRIpT A ST ST © |
(i) G D ATIR TR oo oo T BT TN fHar ST 2 |
0 IR L1 R RIS B3 £ O BT GIad? el T a1y |
(V)  TTERT I BT T oo FUsl # fHar ST 2 |
(V)  FOTTACT DAY BT TATT BUS H oo @ forg foar SIrar 2

Fill in the blanks:—

(i) Pattern can be Made DY .........eueiiiiii e methods
(1) oo clothes are preferred on festive occasion
(i) The bIas ..o should not be stretched while attaching.
(iv)  Box pleats are USEA iN ... garments.
(v)  Trimming SCISSOrS are USEed fOr .........ccoiiiiiiiiiiie e garments.
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U2

9.3

U4

9.5

9.6

[605]

f=ferRad e @@l € A7 g ford —

() Ued & 09 T R Trsd i g 99T ST Adhdr 87

(iy U B TH g IO BUS B JTAR BT AN |

iy Rea Igetex | Star Hafa fear siar 2
(v) IR B BT & U Joe &1 7 BIaT 2|
(v) U< TS B gh UH THH B © |

State whether the following are true or false:-

(i) The style or design can be made on the cloth without using a pattern.

(i)  The temperature and weight of the press should be according to the garment.
(i) The stitch regulator is used to control the length of the stitch.

(iv)  Beltis used to make a fitted waist.

(v)  The same kind of hooks are used in pants and blouse.

STe b ded 87

What do you mean by dart?

Idh fHd Fed 87

What do you mean by yoke?

99 & yeprR foRad |

Write the various kinds of seams.

T IS B oIV 3MaeId ATar &l # fIRgu |

Write the measurement in sequence required for a blouse.
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U7

.8

9.9

.10

.11

12

.13

.14

[605]

SRIT & @ IR | IRy |
Write the short note on tracing wheel.

YR VT DIF—dF I 8?2 Udd T bl 97 oIl |

What are the primary colours? Write the effect of each colour.

G §@ B UgANd H <R WL BT |

Differentiate between clothes wore on festive occasions and at mourning

o 3 & Ryegra foTRay |

Write the principles of lay out?

dothl Ud SolIRcd bl SUIART foIlRay |

Explain the use of Valcro and elastic.

7T &I ABIS, I 1 9 NG 1 BT qUI HITY |

Describe in detail the process of cleaning, oiling and maintaining a sewing machine
HIST TG SART § IR e F a1 o™ 77

Write the advantages of paper pattern in cutting and tailoring.

T IR &R ?'N fob=T 9Tl BT &I G alng?

Write the following points that should be considered while designing a dress.
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616
fawd : g FERR, A TG Ao~

Subject: COMPUTER HARDWARE, ASSEMBLY AND MAINTENANCE
HAY : 03 HUC quifes : 040

Time: 03 Hours Maximum Marks: 040

A& — @t geT e &

Note :- All questions are compulsory.

T, 1 AT AT 3T ey — (5)

() PSR TH T YNNK 2 |

(i) UTdR TS RReH 91T BT T 91T =81 ¢ |

(i) vTdl S fgciiad HHRT &7 ISTER0T ¢ |

(iv) STl 99 &1 STANT Beldd R BT Ao+ & forv far mar 2 |
(v) oTfear fEarsy STsaR Bl =<l F8! fhar S FahdT B |

Write True or False:-

()  Computer is a data processor.

(i)  Power supply is not a part of the system box.

(i)  Floppy disk is the example of secondary memory.
(iv) Data bus is used to send control signal.

(v)  Audio device driver cannot be installed.
[616] Page 1 of 3 (70)



v2 Reaa i & ofd SRR ()

9.3

U4

9.5

4.6

U7

[616]

O N =161 I 2 =T fie Ser STWR HRA H AR BT © |
(i) CPU @ ST TRAT ..ooooooooeoeeeoeeeeees oo I g9 © o SISt ST |

(ii))  PFRCR BT STHFTA BT D oot TR BT T |
(V) WWW BT GOT ST oo =
IO 2T 2 B 1 =

Fill in the blanks :-

() PCl card SUPPOIS .....coeiiieeiiii ettt bit data transfer.
(i)  Afanis attached to CPU in order to prevent ...... ...
(1)) THEre @re ....cccueeeiiieee e steps for assembling a computer.

(iv)  The full form of WWW IS ... .t

(V) The full form of  CPU IS ...uiiii et ee e e e
Hrex &) fafi fagwan gargy | (2)

Describe the various characteristics of a computer.

MICR TR fera fewelt forRey | 2)

Write short notes on MICR.

HFIER ¥ ROM BT T Vel 2 | (2)

What is the role of ROM in a computer.
CD- ROMS SWINT &’ & oM qa8d | 2)

Write down the advantages of using CD-ROMS.
AR dre W dfera fewoft forRay | (2)

Write a short note on Motherboard.

Page 2 of 3 (70)



.8

9.9

910

911

12

9.13

.14

.15

[616]

SMPS &I 2 |

What is SMPS.

FDISK &S T SUIRT forlRaa |

Write the uses of FDISK command.

HeT Ul Dl AHSY |

Describe control panel.

HFYSR BT Y B G B ATl &l FfeAT a7 ¢ |

What are the two types of errors that occur while starting a computer.

P HFYER Pl qpTel § B A DA AR ST Fhell © |

How can a computer be saved from instant failure?

IRIRT |7 2° Gferd d ausey |

What is virus? Explain in brief.

LAN R Gfer feaof o |

Write a short note on LAN.

ook fi=ex & 81T r gHsa 27

What do you understand by a laser printer?

Shoic fiex B THed |

Describe Inkjet printer.

34T / OR
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